
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

vuqns’k 

  
1. vkius fgUnh dks ek/;e pquk gS A bl ijh{kk iqfLrdk esa ,d lkS ipkl  (20 Hkkx 'A'esa + 50 Hkkx 'B' + 80 

Hkkx 'C' esa ) cgqy fodYi iz’u  (MCQ)fn, x, gSa A vkidks Hkkx  'A' esa ls vf/kdre 15 vkSj Hkkx 'B' esa 
35 iz’uksa rFkk Hkkx 'C' esa Lks 25 iz’uksa ds mRrj nsus gSa A ;fn fu/kkZfjr Lks vf/kd iz’uksa ds mRrj fn, x, 

rks dsoy Hkkx 'A' Lks 15,Hkkx 'B' ls 35 rFkk Hkkx 'C' ls  25 igys mRrjksa dh tkap dh tk,xh A   

2. vksñ,eñvkjñ mRrj i=d vyx Lks fn;k x;k gS A viuk jksy uEcj vkSj dsUnz dk uke fy[kus Lks igys ;g 

tkap yhft, fd iqfLrdk esa i`”B iwjs vkSj lgh gSa rFkk dgha Lks dVs&QVs ugha gSa A ;fn ,slk gS rks vki 

bfUothysVj Lks mlh dksM dh iqfLrdk cnyus dk fuosnu dj ldrs gSa A blh rjg Lks vksñ,eñvkjñ mRrj 

i=d dks Hkh tkap  ysa A bl iqfLrdk esa jQ dke djus ds fy, vfrfjDr iUus layXu gSa A 

3. vksñ,eñvkjñ mRrj i=d ds i`”B 1 esa fn, x, LFkku ij viuk jksy uEcj] uke rFkk bl ijh{kk iqfLrdk dk 

Øekad fyf[k,] lkFk gh viuk gLrk{kj Hkh vo'; djsa A 

4. vki viuh vksñ,eñvkjñ mRrj i=d esa jksy uacj] fo”k; dksM] iqfLrdk dksM vkSj dsUnz dksM ls lacaf/kr 

leqfpr o`rksa dks dkys ckWy isu ls vo’; dkyk djsaA ;g ,d ek= ijh{kkFkhZ dh ftEesnkjh gS fd og 

vksñ,eñvkjñ mRrj i=d esa fn, x, funsZ’kksa dk iwjh lko/kkuh ls ikyu djsa] ,slk u djus ij dEI;wVj 

fooj.kksa dk lgh rjhds Lks vdwfVr ugha dj ik,xk] ftlls varr% vkidks gkfu] ftlls vkidh vksñ,eñvkjñ 

mRrj i=d dh vLohdf̀r Hkh ‘kkfey] gks ldrh gS A  
5. Hkkx 'A' rFkk 'B' esa izR;sd iz’u ds 2 vad vkSj Hkkx  'C' esa izR;sd iz’u 4 vad dk gS A izR;sd xyr mRrj 

dk Hkkx 'A' rFkk 'B' esa _.kkRed ewY;kad @ 25 % dh nj ls rFkk Hkkx 'C' esa @ 33% dh nj ls fd;k 

tk,xk A 

6. izR;sd iz’u ds uhps pkj fodYi fn, x, gSa A buesa Lks dsoy ,d fodYi gh Þlghß vFkok ÞloksZRre gyß  

gSA vkidks izR;sd iz’u dk lgh vFkok loksZRre gy <wa<uk gS A 
7. udy djrs gq, ;k vuqfpr rjhdksa dk iz;ksx djrs gq, ik, tkus okys ijh{kkfFkZ;ksa dk bl vkSj vU; Hkkoh 

ijh{kkvksa ds fy, v;ksX; Bgjk;k tk ldrk gS A 

8. ijh{kkFkhZ dks mRrj ;k jQ iUuksa ds vfrfjDr dgha vkSj dqN Hkh ugha fy[kuk pkfg, A 

 9. dsydwysVj dk mi;ksx djus dh vuqefr ugha gS A  

10. ijh{kk lekfIr ij fNnz fcUnq fpfUgr LFkku ls OMR mRrj i=d dks foHkkftr djsaA bfUothysVj dks ewy 

OMR mRrj i=d lkSaius ds i’pkr vki bldh dkWcZuySl izfrfyfi ys tk ldrs gSaA 

11. fgUnh ek/;e@laLdj.k ds iz’u esa folaxfr gksus@ik;s tkus ij vaxzsth laLdj.k izekf.kd gksxk A  

12. dsoy ijh{kk dh iwjh vof/k rd cSBus okys ijh{kkFkhZ dks gh ijh{kk iqfLrdk lkFk ys tkus dh  

  vuqefr nh tk,xh A 
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Hkkx \PART 'A' 

 

1. θÛεÕę Ñ ÛÝʝ Öʃ ßȓ| η¾Þɠ ÏɭÜ ¾ɥ Àɭßȕɯ ¾ɥ ÒɮÏɟÛɟØ 
¾ɨ ÏÜɟx×ɟ À×ɟ ßɮ] η¾Þ ÛÝx Öʃ ŢȑÍÜÍ ÒɮÏɟÛɟØ 
ÞÛɟxκÐ¾ ÁÈɡ? 

 
 1. 2001   2.  2002 

 3. 2003   4.  2004 

 

1. Wheat production of a country over a number 

of years is shown.  Which year recorded 

highest percent reduction in production over 

the previous year? 

 

 
 1. 2001   2.  2002 

 3. 2003   4.  2004 

 

2. ¤¾ ¿ɟÑ 10000ÈÑ ÍɟɰÔɭ ¾ɟ ¿ȑÑÅ ȒÅÞÖʃ 1.5 

ÕɟØ % ÍɟɰÔɟ ßɮ, ¤¾ Ħ ÖɭÙÈØ ¾ɨ ŢÏɟÑ ¾ØÍɠ ßɮ] 
Ħ ÖɭÙÈØ ¿ȑÑÅ Þɭ 80% ÍɟɯÔɟ }Þɠ ȏÏÑ ȑÑ¾ɟÙÍɟ 
ßɮ] η¾ÍÑɭ ÈÑ.ŢȑÍȏÏÑ ÍɟɯÔɟ ÔÑɟ×ɟ ÅɟÍɟ ßɮ? 

 1. 80    2.  12 

 3. 120   4.  150 

 

2. A mine supplies 10000 tons of copper ore, 

containing an average of 1.5 wt% copper, to a 

smelter every day. The smelter extracts 80% 

of the copper from the ore on the same day. 

What is the production of copper in tons/day? 

 1. 80    2.  12 

 3. 120   4.  150 

 

3. ¤¾ ÖȏßÙɟ   ȼÒ×ɭ X ÍÎɟ  Y ÒɮÞɭ Ùɭ¾Ø ¿ØɡÏÏɟØɡ 
¾ØÑɭ ȑÑ¾ÙÍɠ ßɮ ÍÎɟ  ȼÒ×ɭ 3.50 ¿Ãx ¾ØÑɭ ¾ɭ 
ÒĤ ÃɟÍn }Þ¾ɭ ÒɟÞ  ȼÒ×ɭ 2Y ÍÎɟ  2 X ÒɮÞɭ ÔÃÍɭ 

ßʅ] Ûß ÐÑ ØɟεÜ ȒÅÞɭ Ùɭ¾Ø Ûß ÖȏßÙɟ ¿ØɡÏÏɟØɡ 
¾ØÑɭ ȑÑ¾ÙÍɠ ßɮ, Ûß ßɮ:  

 1. ȼÒ×ɭ 48.24  2.  ȼÒ×ɭ 28.64 

 3. ȼÒ×ɭ 32.14  4.  ȼÒ×ɭ 23.42 

 

3. A woman starts shopping with Rs. X and Y 

paise, spends Rs. 3.50 and is left with Rs. 2Y 

and 2 X paise.  The amount she started with is 

 1. Rs. 48.24  2.  Rs. 28.64 

 3. Rs. 32.14  4.  Rs. 23.42 

 

4. ÍɠÑ ÔßÑʇ ¾ɭ Ö¾ɟÑ ¤¾ ßɡ ÒɰȒĆÍ Öʃ ßʅ, Ùɭη¾Ñ 
ÖɰÆÙɡ ÔßÑ ÔɠÃ ÛɟÙɭ Ö¾ɟÑ Öʃ Ñßɡɰ ØßÍɠ ßɮ] 
ÞȓÔß ¾ɭ ÞÖ× ÞÔÞɭ Ôîɠ ÔßÑ ¾ɭ Ö¾ɟÑ ¾ɥ 
Äɟ×ɟ ÞÔÞɭ ÄɨÈɡ ÔßÑ ¾ɭ Ö¾ɟÑ  ÒØ ÒîÍɠ ßɮ] 
¾ɩÑ-Þɟ ȑÑĥ ¾Ýx ÜȑÍx×ɟ ȑÑ¾ɟÙɟ Åɟ Þ¾Íɟ ßɮ? 

 1. ÞÔÞɭ ÄɨÈɡ ÔßÑ ÔɠÃ Öʃ ØßÍɠ ßɮ  

 2. ÞÔÞɭ Ôîɠ ÔßÑ ÔɠÃ Öʃ ØßÍɠ ßɮ]  

 3. ÞÔÞɭ ÄɨÈɡ ×ɟ ÞÔÞɭ Ôîɠ ÔßÑ ÔɠÃ Öʃ 
 ØßÍɠ ßɮ]  

 4. ÞÔÞɭ ÄɨÈɡ ÔßÑ ¾ɟ Ö¾ɟÑ ÖɰÆÙɡ 
 ÔßÑ ¾ɭ Ö¾ɟÑ ¾ɭ ÒȕÛx Öʃ ßɮ] 

 

4. The houses of three sisters lie in the same row, 

but the middle sister does not live in the 

middle house.  In the morning, the shadow of 

the eldest sisterôs house falls on the youngest 

sisterôs house. What can be concluded for 

sure? 

 1. The youngest sister lives in the  middle. 

 2. The eldest sister lives in the middle. 

 3. Either the youngest or the eldest 

 sister lives in the middle. 

 4. The youngest sisterôs house lies on the east 

 of the middle sisterôs house. 

 

5. ÍɠÑ ÛĦ Í̈ɰ A, B ÍÎɟ C ¾ɨ ÔɭÃÑɭ ÒØ η¾Þɠ 
ģ ×ȒĆÍ ¾ɨ A ÒØ 10% ÙɟÕ,  B ÒØ  20% ÙɟÕ ÍÎɟ 
C ÒØ 10% ßɟȑÑ ßɨÍɠ ßɮ] A ÍÎɟ C ¾ɭ Þɰ×ȓĆ Í 
ÔɭÃɟÑ Öȕġ ×ʇ ¾ɭ ȸȒĥÈÀÍ }Þɭ Ñ ßɟȑÑ Û ÙɟÕ ßɨÍɟ 
ßɮ ÅÔη¾ B ÍÎɟ C ¾ɭ Þɰ×ȓĆ Í ÔɭÃɟÑ Öȕġ ×ʇ ¾ɭ 
ȸȒĥÈÀÍ }Þɭ 5% ÙɟÕ ßɨÍɟ ßɮ] }Þ ģ ×ȒĆÍ ¾ɨ ßɨÑɭ 
ÛɟÙɡ θÛÜȓǦ ßɟȑÑ ×ɟ ÙɟÕ Ć ×ɟ ßɮ? 

 1. 10% ÙɟÕ   2.  20% ÙɟÕ 
 3. 10.66% ÙɟÕ  4.  6.66% ÙɟÕ 
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5. A man sells three articles A, B, C and gains 

10% on A, 20% on B and loses 10% on C. He 

breaks even when combined selling prices of 

A and C are considered, whereas he gains 5% 

when combined selling prices of B and C are 

considered.  What is his net loss or gain on the 

sale of all the articles? 

 1. 10% gain  2.  20% gain 

 3. 10.66% gain  4.  6.66% gain 

 

6. Ïɨ ÛĦ Íȓ̈ɰ  A ÍÎɟ B ¾ɭ ÞÖ×-ÏȕØɡ ŐɟÓ ¾ɨ ÑɠÃɭ 
ÏÜɟx×ɟ À×ɟ ßɮ]  

 

 ×ȏÏ yàʇ ¾ɥ yÏÙɟ-ÔÏÙɡ ¾Ø Ïɡ Åɟ×ɭ Íɨ {Þɠ 
ÞȕÃÑɟ ¾ɨ ÑɠÃɭ ȏÏ×ɭ À×ɭ ŐɟÓʇ Öʃ Þɭ ¾ɩÑ-Þɟ 
ŐɟÓ ÏÜɟxÍɟ ßɮ? 

 

        

 
 

    
 

 
 

6. Time-distance graph of two objects A and B 

are shown. 

 

 
  

 If the axes are interchanged, then the same 

information is shown by 

 

       

 

     

 
 

7. ÍɠÑ ÔĆ Þʇ Öʃ Ţĕ×ɭ¾ Öʃ 30 Ãɦ¾ÙɭÈ ßʅ, {ę ßʃ Ùɭ¾Ø 
¤¾ ÞɭġÞÖɮÑ ×ɟŝɟ ¾Ø Øßɟ ßɮ] ×ɟŝɟÛκÐ Öʃ }Þɭ 
30 ÈɨÙ ÔȕÎ Þɭ ÀȓÅØÑɟ ÒîÍɟ ßɮ] Ţĕ×ɭ¾ ÈɨÙ ÔȕÎ 
ÒØ ¤¾ ȑÑØɡà¾ ȒÅÑ ÔĆ Þʇ Öʃ Ãɦ¾ÙɭÈ ßɮ }ÑÖʃ 
Þɭ ŢȑÍ ÔĆ Þɟ ¤¾ Ãɦ¾ÙɭÈ ÈɮĆ Þ ¾ɭ ȼÒ Öʃ ÙɭÍɟ 
ßɮ] ÞÔ ÈɨÙ ÔȕÎ Þɭ ÀȓÅØÑɭ ¾ɭ ÒĤ ÃɟÍn }Þ¾ɭ ÒɟÞ 
yκÐ¾ÍÖ η¾ÍÑɠ Ãɦ¾ÙɭÈ ÔÃɠ ØßʃÀɠ? 
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 1. 0    2.  30 

 3. 25    4.  20 

 

7. A chocolate salesman is travelling with 3 

boxes with 30 chocolates in each box.  During 

his journey he encounters 30 toll booths.  Each 

toll booth inspector takes one chocolate per 

box that contains chocolate(s), as tax. What is 

the largest number of chocolates he can be left 

with after passing through all toll booths? 

 1. 0    2.  30 

 3. 25    4.  20 

 

8. Ïɨ ÑɟȎØ×Ùʇ ¾ɥ ÀȓÉεÙ×ʇ ¾ɭ yę ÏØ ¾ɥ ÅÀß 
ÀɨÙɟ¾ɟØ ßɮ, ¤Ûɰ ŢÎÖ ¾ɟ zę ÍȎØ¾ ģ ×ɟÞ ÏȕÞØɭ 
¾ɭ zę ÍȎØ¾ ģ ×ɟÞ ¾ɟ ÏɨÀȓÑɟ ßɮ] Ôîɭ z¾ɟØ 
ÛɟÙɟ ¤¾ şÛ Þɭ zÐɟ ÅÔη¾ ÄɨÈɟ ÒȕØɟ ÕØɟ ßɮ] 
ȑÑĞ Ñ ¾ÎÑʇ Öʃ Þɭ ¾ɩÑ-Þɟ ¾ÎÑ Þßɡ ßɮ? 

 1. Ôîɭ ÑɟȎØ×Ù Öʃ ÄɨÈɭ Þɭ 4 ÀȓÑɟ yκÐ¾ şÛ ßɮ]  

 2. Ôîɭ ÑɟȎØ×Ù Öʃ ÄɨÈɭ Þɭ 2 ÀȓÑɟ yκÐ¾ şÛ ßɮ]   

 3. ÏɨÑʇ ÑɟȎØ×Ùʇ Öʃ şÛ ÞÖɟÑ z×ÍÑ Öʃ ßɮ]  

 4. ÄɨÈɭ ÑɟȎØ×Ù Öʃ Ôîɭ Þɭ 2 ÀȓÑɟ şÛ ßɮ]  

 

8. Two coconuts have spherical space inside 

their kernels, with the first having an inner 

diameter twice that of the other. The larger 

one is half filled with liquid, while the smaller 

is completely filled.  Which of the following 

statements is correct? 

 1. The larger coconut contains 4 times the 

 liquid in the smaller one. 

 2. The larger coconut contains twice the 

 liquid in the smaller one. 

 3. The coconuts contain equal volumes of 

 liquid. 

 4. The smaller coconut contains twice the 

 liquid in the larger one. 

 

9. ȑÑĞ Ñ Őɟ÷ʇ Öʃ Þɭ ¾ɩÑ-Þɟ ÖɠÉɭ ÒɟÑɠ ¾ɭ Ħ Îɟ×ɠ 
ÆɠÙ ¾ɨ ÏÜɟxÍɟ ßɮ? 'yÎɟxÍn   ÅÙ ¾ɥ ~Ę ÛɟxÐØ 
ÀȑÍÜɠÙÍɟ Ñßɡɰ(  

 

  

  
 

 

 
 

9. Which of the following graphs represents a 

stable fresh water lake?(i.e., no vertical motion 

of water) 
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10. ¤¾ ÞɭÙÓɨÑ ÈɟÛØ 'ÖɠÑɟØ( Þɭ 1W ÜȒĆÍ ¾ɟ 
θÛ η¾ØÌ ßɨÍɟ ßɮ] zÒ¾ɭ ÞɭÙÓɨÑ ¾ɭ ŘɟɰÞ ÖɠÈØ Þɭ  

0.1 mW ÜȒĆÍ ¾ɟ θÛη¾ØÌ ßɨÍɟ ßɮ] ×ȏÏ zÒ 
ÈɟÛØ Þɭ 100m ¾ɥ ÏȕØɡ ÒØ ßɮ, ©Ø ÓɨÑ zÒ ¾ɭ 
¾ɟÑ Þɭ ÞÈɟ ßȓz ßɮ, Íɨ zÒ¾ɭ εÞØ Í¾ ÈɦÛØ Þɭ 
ÒßȓɰÃÑɭ ÛɟÙɡ ~Åɟx (E1) ÍÎɟ zÒ¾ɭ ÓɨÑ Þɭ ÒßȓɰÃÑɭ 
ÛɟÙɡ ~Åɟx (E2) ¾ɥ Þßɡ ÍȓÙÑɟ ßɨÀɠ  

 1. E1 >> E2 

 2. E2 >> E1 

 3. E1 = E2 , Åɨ ÞɰÒ¾x ÔÑɟÑɭ ¾ɭ εÙ¤ ÅȼØɡ ßɮ  
 4. Ïɡ À×ɠ ÅɟÑ¾ɟØɡ ÙÀÕÀ ÍȓÙÑɟ ¾ɭ ßɭÍȓ 

 Ò×ɟxĚ Í Ñßɡɰ ßɮ]  
 

10. A cellphone tower radiates 1W power while 

the handset transmitter radiates 0.1 mW 

power. The correct comparison of the 

radiation energy received by your head from a 

tower 100m away (E1) and that from a handset 

held to your ear (E2) is 

 1. E1 >> E2 

 2. E2 >> E1 

 3. E1 = E2 for communication to be established 

 4. insufficient data even for a rough comparison 

 

11. ¤¾ ÔɟÁ, ßÛɟ ¾ɥ θÛÒØɡÍ ȏÏÜɟ Þɭ yÒÑɭ εÜ¾ɟØ 
¾ɥ Íɟ¾ Öʃ ØßÍɟ ßɮ] {Þ¾ɟ ¾ɟØÌ ßɮ η¾  

 1. ßÛɟ }Þɭ yÒÑɭ εÜ¾ɟØ ¾ɟ yȒęÍÖ  ÅɟÑÙɭÛɟ 
 ßÖÙɟ ¾ØÑɭ Öʃ Þßɟ×Íɟ ¾ØÍɠ ßɮ]  

 2. ßÛɟ yÒÑɭ ÞɟÎ εÜ¾ɟØ ¾ɥ ÀɰÐ ¾ɨ ÔɟÁ 
 Í¾ ÒßȓɯÃɟÍɠ ßɮ ȒÅÞÞɭ }Þɭ εÜ¾ɟØ ¾ɨ 
 ËȕɰËÑɭ Öʃ  zÞɟÑɠ ßɨÍɠ ßɮ]  

 3. ßÛɟ ¾ɥ θÛÒØɡÍ ȏÏÜɟ Öʃ ÞɟÖɟę×Íɪ ÁÑɠ 
 ßȎØ×ɟÙɡ ßɨÑɭ Þɭ }Þɭ ÔɭßÍØ ÄǪ zÛØÌ 
 εÖÙÍɟ ßɮ]  

 4. ßÛɟ ¾ɥ θÛÒØɡÍ ȏÏÜɟ Öʃ ÔɟÁ ¾ɥ ȒĦÎȑÍ }Þ¾ɥ 
 ÀɰÐ ¾ɨ εÜ¾ɟØ Í¾ Ñßɡɰ ÒßȓɰÃÑɭ ÏɭÑɭ Öʃ ÖÏÏ 
 ¾ØÍɠ ßɮ] 

  
11. A tiger usually stalks its prey from a direction 

that is upwind of the prey.  The reason for this is 

 1. the wind aids its final burst for killing the 

 prey 

 2. the wind carries the scent of the prey to the 

 tiger and helps the tiger locate the prey easily 

 3. the upwind area usually has denser vege- 

 tation and better camouflage 

 4. the upwind location aids the tiger by 

 not letting its smell reach the prey 

 

12. ÕȕÞÍß ¾ɭ àɭŝÓÙ ¾ɟ θÛεÕęÑ ~ɯÃɟ{×ʇ Û 
ÀßØɟ{×ʇ 'ÞÖȓş ÅÙĦ ÍØ ¾ɭ ÞɟÒɭà( ÒØ θÛÍØÌ 
κÃŝ Öʃ ÏÜɟx×ɟ À×ɟ ßɮ] {Þ¾ɭ zÐɟØ ÒØ ȑÑĞ Ñ Öʃ 
Þɭ ¾ɩÑ-Þɟ ¾ÎÑ yÞĕ × ßɮ? 

 

 
 

 1. ÒȗĖ Ûɠ ¾ɥ ÞÍß ¾ɟ yκÐ¾ÍØ ÕɟÀ ÞÖȓş 
 ÅÙĦ ÍØ Þɭ ÑɠÃɭ ßɮ] 

 2. ÞÖȓş ÅÙĦ ÍØ Þɭ ~ÒØ ¾ɥ ÞÍß ¾ɭ ¾ȓÙ àɭŝÓÙ 
 ¾ɟ yκÐ¾ÍØ ÕɟØ  2 η¾-Öɠ- ~ɯÃɟ| Þɭ ÑɠÃɭ ßɮ]  

 3. ÞÖȓş ÅÙĦ ÍØ Þɭ ÑɠÃɭ ¾ɥ ÞÍß ¾ɭ ¾ȓÙ àɭŝÓÙ 
 ¾ɟ ÞÔÞɭ ¾Ö ÕɟØ 4 η¾-Öɠ- ÀßØɟ| Þɭ ÑɠÃɭ ßɮ 

 4. ÞÖȓş ÅÙĦ ÍØ Þɭ ÞÛɟxκÐ¾ ÀßØɟ| ¾ɥ ÏȕØɡ  ÞÖȓş 
 ÅÙĦ ÍØ Þɭ ÞÛɟxκÐ¾ ~ɯÃɟ| Þɭ yκÐ¾ ßɮ]  
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12. Based on the distribution of surface area of the 

Earth at different elevations and depths (with 

reference to sea-level) shown in the figure, 

which of the following is FALSE? 

 
 1. Larger proportion of the surface of the 

 Earth is below sea-level 

 2. Of the surface area above sea-level, larger 

 proportion lies below 2 km elevation 

 3. Of the surface area below sea-level, smaller 

 proportion lies below 4 km depth 

 4. Distance from sea level to the maximum 

 depth is greater than that to the maximum 

 elevation 

 

13. ÞɰÒȕÌx ȼÒ Þɭ ÞÖȓşÅÙ ¾ɭ yɰÏØ ÔɮÉɟ ¤¾ ģ ×ȒĆÍ 
Þȕ×x ¾ɟ ÙÀɟÍɟØ ŢɭàÌ ¾ØÍɟ ßɮ] ÅÙ ¾ɭ ÔɟßØ 
η¾Þɠ ģ ×ȒĆÍ ¾ɥ ÍȓÙÑɟ Öʃ ÅÙ ¾ɭ yɰÏØ ÔɮÉɟ 
ģ ×ȒĆÍ ȑÑĞ Ñ Öʃ Þɭ ¾ɩÑ-Þɟ ŢɭàÌ ¾ØɭÀɟ? 

 1. Ñɟ Íɨ Þȕ×ɼÏ×.Þȕ×ɟxĦ Í ¾ɟ ÞÖ×, Ñɟ ßɡ 
 νàȑÍÅ ¾ɥ ¾ɨÌɠ× ÏȕØɡ ÔÏÙɭÀɠ]   

 2. Þȕ×ɼÏ× ÏɭØ Þɭ ßɨÀɟ, Þȕ×ɟxĦ Í ÒßÙɭ ßɨÀɟ, ÒØɰÍȓ 
 νàȑÍÅ ¾ɥ ¾ɨÌɠ× ÏȕØɡ yÒȎØÛȑÍxÍ ØßɭÀɠ]  

 3. Þȕ×ɼÏ×.Þȕ×ɟxĦ Í ¾ɟ ÞÖ× yÒȎØÛȑÍxÍ ßɨÀɟ, 
 ÒØɰÍȓ νàȑÍÅ ¾ɥ ¾ɨÌɠ× ÏȕØɡ εÞ¾ȓî Åɟ×ɭÀɠ]  

 4. ȏÏÑ ¾ɥ ÞÖ×ɟÛκÐ Û  νàȑÍÅ ¾ɥ ¾ɨÌɠ× ÏȕØɡ 
 ÏɨÑʇ ÁÈʃÀʃ]  

 

13. A person completely under sea water tracks 

the Sun. Compared to an observer above 

water, which of the following observations 

would be made by the underwater observer? 

 1. Neither the time of sunrise or sunset 

 nor the angular span of the horizon 

 changes. 

 2. Sunrise is delayed, sunset is advanced, but 

 there is no change in the angular span of the 

 horizon. 

 3. Sunrise and sunset times remain unchanged, 

 but the angular span of the horizon shrinks. 

 4. The duration of the day and the  angular 

 span of the horizon, both decrease. 

 

 

14. ȏÏ×ɭ À×ɭ ŎÖ Öʃ yÀÙɟ ŢȑÍÖɟÑ ¾ɩÑ-Þɟ ßɨÀɟ? 

  

  
 

14. What is the next pattern in the given 

sequence? 

  
 

  
 

15. ¤¾ yÁx ÛȗĕÍ ¾ɭ ÃɟÒ ¾ɭ ÖĘ× ȐÔęÏȓ ¾ɨ }Þ¾ɭ 
ģ ×ɟÞ ¾ɭ yɰȑÍÖ ȐÔę Ïȓ̈ɰ Þɭ ÞɠÐɠ Øɭ¿ɟ¨ɰ Þɭ Åɨîɟ 
À×ɟ ßʅ] κÃŝ Öʃ ÏÜɟx×ɭ Äɟ×ɟɰη¾Í àɭŝ ÍÎɟ ȐŝÕȓÅ 
¾ɭ àɭŝÓÙʇ ¾ɟ yÑȓÒɟÍ ÔÍɟ×ʃ? 

 

 

 
  

 1. ρ   2.   

 3. “ ρȾς   4.  ς“ ρȾτ 

 

 

 



8 
 

15. The mid-point of the arc of a semicircle is 

connected by two straight lines to the ends of 

the diameter as shown. What is the ratio of the 

shaded area to the area of the triangle? 

 
 

 1. ρ   2.   

 3. “ ρȾς  4.  ς“ ρȾτ 

 

16. ¤¾ ÏȕÐÛɟÙɟ 90 ÙɡÈØ ÏȕÐ Öʃ 10 ÙɡÈØ ÒɟÑɠ 
εÖÙɟÍɟ ßɮ] ¾ȓÙ ÏȓÐ ¾ɟ 1/5

th
 ÕɟÀ ÔɭÃÑɭ ¾ɭ ÔɟÏ 

Ûß ÜɭÝ ÕɟÀ Öʃ ÔɭÃɭ ßȓ¤ ÕɟÀ ¾ɥ Öɟŝɟ ¾ɭ ÞÖɟÑ 
©Ø ÒɟÑɠ εÖÙɟÍɟ ßɮ] {Þ εÖŬÌ Öʃ ÒɟÑɠ Û ÏȕÐ 
¾ɟ yÑȓÒɟÍ ßɮ: 

 1. 72:28   2.  28:72 

 3. 20:80   4.  30:70 

 

16. A milkman adds 10 litres of water to 90 litres 

of milk.  After selling 1/5
th
 of the total 

quantity, he adds water equal to the quantity 

he has sold.  The proportion of water to milk 

he sells now would be  

 1. 72:28   2.  28:72 

 3. 20:80   4.  30:70 

 

17. ¤¾ ȒĦŢɰÀ ¾ɥ ÒɭÃÏȕØɡ 5 εÖ-Öɠ- ßɮ] ȒĦŢɰÀ ¾ɟ 
ģ ×ɟÞ 1 ÞʃÖɠ ßɮ] ×ß ȒĦŢɰÀ yÒÑɠ yà ÒØ 2 

ÃĆ ¾Ø ŢȑÍ Þɮ- ¾ɥ ÀȑÍ Þɭ ÁȕÖÍɠ ßɮ] ȒĦŢɰÀ 
yÒÑɠ yà ¾ɭ ÞÖɟɰÍØ η¾Þ ÀȑÍ Þɭ ÃÙÍɠ ŢÍɠÍ 
ßɨÍɠ ßɮ?  

 1. 1 mm/s   2.  5 mm/s 

 3. 6 mm/s   4.  10 mm/s 

 

17. The pitch of a spring is 5 mm. The diameter of 

the spring is 1 cm. The spring spins about its 

axis with a speed of 2 rotations/s. The spring 

appears to be moving parallel to its axis with a 

speed of  

 1. 1 mm/s   2.  5 mm/s 

 3. 6 mm/s   4.  10 mm/s 

 

18. ¤¾ ÒɟȎØȒĦÎȑÍ¾ɥ ÛɮáɟȑÑ¾ ÍɨÍʇ ¾ɥ θÛØÙ 
zÔɟÏɡ ÛɟÙɭ àɭŝ Öʃ }Ñ¾ɥ zÔɟÏɡ ¾ɟ yÑȓÖɟÑ 
ÙÀɟÑɭ ¾ɭ εÙ¤ 30 ÍɨÍʇ ¾ɨ Ò¾î ¾Ø }Ñ ¾ɥ 
ÀØÏÑʇ Öʃ ¤¾-¤¾ Öȓȏş¾ɟ ÒßÑɟ ÏɭÍɟ ßɮ] ¤¾ 

ÞĚ Íɟß ÔɟÏ Ûß ηÓØ 40 ÍɨÍʇ ¾ɨ Ò¾î ÙɭÍɟ ßɮ, 
©Ø ÒɟÍɟ ßɮ η¾ }Ñ Öʃ Þɭ 8 ÍɨÍʇ ¾ɥ ÀÏxÑʇ Öʃ 
Öȓȏş¾ɟ ßɮ] {Ñ ÅɟÑ¾ɟØɡ ¾ɭ zÐɟØ ÒØ ÍɨÍʇ ¾ɥ 
yÑȓÖɟȑÑÍ zÔɟÏɡ η¾ÍÑɠ ÔÍɟ×ɠ Åɟ×ɭÀɠ? 

 1. 70    2.  150 

 3. 160   4.  100 

 

18. To determine the number of parrots in a sparse 

population, an ecologist captures 30 parrots 

and puts rings around their necks and releases 

them.  After a week he captures 40 parrots and 

finds that 8 of them have rings on their necks.  

What approximately is the parrot population? 

 1. 70    2.  150 

 3. 160   4.  100 

 

19. ȒÅÑ ÍɟÙɟÔʇ Öʃ ßɟ×εÞę Î ÅɮÞɠ ÅÙ ÛÑĦ ÒȑÍ 
yĕ ×κÐ¾ Öɟŝɟ Öʃ ÒÑÒÍɠ ßɨ, }Ñ ÍɟÙɟÔʇ Öʃ ÖÄÙɡ 
¾ɥ zÔɟÏɡ ¾Ö Òɟ×ɠ ÅɟÍɠ ßɮ, ȒÅÞ¾ɟ ¾ɟØÌ ßɮ 

 1. ßɟ×εÞę Î 'ÅÙ ÛÑĦ ÒȑÍ( ÞȕØÅ ¾ɥ ØɨÜÑɠ  ¾ɨ 
 ÍɟÙɟÔ ¾ɭ ÍÙ Í¾ ÒßȓɰÃÑɭ Þɭ Øɨ¾Íɠ ßɮ]  

 2. ÞîÑɭ ÛɟÙɡ ßɟ×εÞę Î 'ÅÑ ÛÑĦ ÒȑÍ( ÒɟÑɠ  Öʃ 
 ÁȓÙɭ ¦ȒĆÞÅÑ ¾ɨ Ñĥ È ¾ØÍɠ ßɮ]  

 3. ßɟ×εÞę Î ÅɮÞɠ ÅÙ ÛÑĦ ÒȑÍ ÖÄεÙ×ʇ ¾ɭ 
 εÙ¤ Ò×ɟxĚ Í zßɟØ Ñßɡɰ ßɨÍɠ]  

 4. ßɟ×εÞę Î 'ÅÙ ÛÑĦ ÒȑÍ( ÒɟÑɠ Öʃ ÅßØɡÙɭ 
 ÒÏɟÎx ÄɨîÍɠ ßɮ]  

 

19. Why is there low fish population in lakes that 

have large hyacinth growth? 

 1. Hyacinth prevents sunlight from 

 reaching the depths of the lake. 

 2. Decaying matter from hyacinth consumes 

 dissolved oxygen in copious amounts. 

 3. Hyacinth is not a suitable food for fishes. 

 4. Hyacinth releases toxins in the water. 

  

20. ¤¾ ÷Üx ¾ɟ z¾ɟØ 18 ³ 24 ßɮ] }Ñ ¤¾ ȼÒɠ 
ÛÀɟx¾ɟØ Èɟ{Ùʇ ¾ɥ ę ×ȕÑÍÖ Þɰć ×ɟ η¾ÍÑɠ ßɨÀɠ 
ȒÅÞÞɭ η¾ ÞɰÒȕÌx ÷Üx η¾Þɠ Õɠ Èɟ{Ù ¾ɨ Íɨîɭ 
ȐÔÑɟ Ë¾ɟ Åɟ Þ¾ɭ? 

 1. 6     2.  24 

 3. 8    4.  12 

 

20. The dimensions of a floor are 18 ³ 24.  What 

is the smallest number of identical square tiles 

that will pave the entire floor without the need 

to break any tile? 

 1. 6     2.  24 

 3. 8    4.  12 
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Hkkx \PART 'B' 

 
21. ÒȗĖ Ûɠ ÒÏɟÎʝ ¾ɭ ÞɰÒɠÊ¾ ÞɟÖĖ ×x ¾ɟ Þßɡ ÔïÍɟ 

ŎÖ ßɮ  

 1. ȏßÖ, ÔÅØɡ, ÖȗȒĕÍ¾ɟ  
 2. ÜɭÙ, ÔÞɟġ È, ÃȕÑɟÒĕ ÎØ  
 3. ÜɭÙ, ÔɟÙȕ Òĕ ÎØ, ŐɮĜ Ôɨ  
 4. ŐɮĜ Ôɨ, ÒɭȎØÊɨÈɟ|È, ÔɟÙȕ Òĕ ÎØ  
 

21. The correct increasing order of compressive 

strength of Earth materials is  

 1. ice, gravel, clay  

 2. shale, basalt, limestone  

 3. shale, sandstone, gabbro   

 4. gabbro, peridotite, sandstone  

 

22. ÕɰÀȓØ θÛȼÒÌ Þɭ ÔÑÍɭ ßʅ9  
1. ÛÙÑ ¤Ûɰ ÞɰκÐ  

2. ťɰÜ ¤Ûɰ εÕȒĕÍ  

3. yÒȼÒÌ àɭŝ ¤Ûɰ ÛÙÑ  

4. ťɰÜ ¤Ûɰ ÞɰκÐ  

 

22. Brittle deformation leads to  

1. folds and joints   

2. faults and dykes   

3. shear zones and folds   

4. faults and joints   

 

23. θÛȏÏÍ ßɮ η¾ ÖɰÀÙ ¾ɥ ÛÍxÖɟÑ ÞÍß Öʃ şÛ ×ɟ 
ÉɨÞ ȼÒ Öʃ ÅÙ Òɟ×ɟ Ñßɡɰ ÅɟÍɟ, ÒØɰÍȓ {Þ Őß ¾ɭ 
ŠȓÛɠ àɭŝʇ Öʃ ȏßÖ ¾ɭ Òɟ×ɭ ÅɟÑɭ ¾ɥ ÞȕÃÑɟ ŢɟĚ Í 
ßɮ] ×ß ȏßÖ ÞɰÕÛÍ9 ßɮ ÅÖɟ ßȓz  
1. ¦Ć ÞɠÅÑ   2. Þġ ÷Ø Êɟ×ɫɟĆ Þɟ|Ê   
3. ßɟ|ŚɨÅÑ    4. ¾ɦÔxÑ Êɟ×ɫɟĆ Þɟ|Ê  
 

23. The present-day Martian surface is not known 

to contain water either in liquid or solid form, 

however, ice has been reported from the polar 

regions of the planet. This ice is likely to be 

frozen 

1. Oxygen   2. Sulphur dioxide  

3. Hydrogen   4. Carbon dioxide 

 

24. ȑÑĞ Ñ Öʃ Þɭ ¾ɩÑ-Þɟ, ¤¾ Ħ ÍȎØ¾ ÒȎØċ ÄɭÏ Öʃ 
Ŭɭĥ ÉÍÖ yεÕÏɭÜ ȐÔɰÏȓ ÖɟÑɟ Åɟ Þ¾Íɟ ßɮ?  

 1. ¤¾ zθÛÙÍɟ ȑÑàɭÒ  

 2. ¤¾ ÞȓÑɟÖɠ ȑÑàɭÒ 

 3. ¤¾ ÃȕÑɟÒĕ ÎØ ȑÑàɭÒ 

 4. ¤¾ Èɭţɟ ȑÑàɭÒ 

 

24. Out of following, which one can be considered 

as the best reference point in a stratigraphic 

section?  

 1. A turbidity deposit  

 2. A tsunami deposit  

 3. A limestone deposit  

 4. A tephra deposit  

 

25. ÒȗĖ Ûɠ ÒØ Íĕ Ûʇ ¾ɥ ÞɟÒɭà ŢÃȓØÍɟ̈ ɰ ¾ɟ ÁÈÍɟ 
ŎÖ ßɮ9  

 1. Ùɨßɟ, ¦Ć ÞɠÅÑ, εÞεÙ¾ɨÑ, ÖɮĈ ÑɠεÜ×Ön   
 2. ¦Ć ÞɠÅÑ, εÞεÙ¾ɨÑ, ¤ġ ×ȓεÖȑÑ×Ön , Ùɨßɟ  

 3. Ùɨßɟ, ÖɮĈ ÑɠεÜ×Ön , εÞεÙ¾ɨÑ, ¦Ć ÞɠÅÑ  
 4. ¦Ć ÞɠÅÑ, εÞÙ¾ɨÑ, ¤ġ ×ȓεÖȑÑ×Ö, 

 ÖɮĈ ÑɠεÜ×Ön   
 

25. The relative abundance of elements, in 

decreasing order, in the Earth is  

 1. iron, oxygen, silicon, magnesium  

 2. oxygen, silicon, aluminium, iron  

 3. iron, magnesium, silicon, oxygen  

 4. oxygen, silicon, aluminium, magnesium   

 

26. ÖĘ × ÖßɟÞɟÀØɡ ¾È¾, Åɨ ÒÒxÈɡ× θÛĦ ÍØÌ ¾ɭ àɭŝ ßʅ, 
ÞɟÖɟę ×Í9 {ÑÞɭ ÞɰÀÍ ßʅ9    

 1. ÞɟÖɟę × ¤Ûɰ }ĕ ŎÖ ťɰÜ  

 2. ÞɟÖɟę × ¤Ûɰ ÑȑÍÙɰÔ-ÞÒxÌ ťɰÜ  

 3. }ĕ ŎÖ ¤Ûɰ ÑεÙÙɰÔ-ÞÒxÌ ťɰÜ  

 4. ÞɟÖɟę × ¤Ûɰ ȼÒɟɰ ÍȎØÍ ťɰÜ  

 

26. Mid-ocean ridges, areas of crustal extension, are 

usually associated with   

 1. normal and reverse faults  

 2. normal and strike-slip faults 

 3. reverse and strike-slip faults 

 4. normal and transform faults 

 

27. ÒȗĖ Ûɠ ¾ɥ ÞÍß ÒØ ØɟÞɟ×ɟȑÑ¾ yÒà× ¾ɭ εÙ¤ 
Ûɟ×ȓÖɰÊÙ ¾ɭ ȑÑĞ Ñ ÀɮÞʇ Öʃ Þɭ ¾ɩÑ-Þɟ 
Ößĕ ÛÒȕÌxÍÖ ßɮ?   

 1. ÅÙÛɟĥ Ò   2.  CO2  

 3. NO2     4.  SO2  

 

27. Which one of the given gases in the 

atmosphere is the most important for chemical 

weathering on the surface of the Earth?   

 1. Water vapour    2.  CO2  

 3. NO2    4.  SO2  
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28. ÖĘ × ÖßɟÞɟÀØɡ ¾È¾ʇ (MOR)  ¾ɭ θÛÝ× Öʃ 
ȑÑĞ Ñ ¾ÎÑʇ Öʃ Þɭ ¾ɩÑ-Þɟ Þßɡ ßɮ?  

 1.  ÖßɟÞɟÀØ ÍÙɡ ¾ɭ ÔÞɦġ È MOR Þɭ ÏȕØĦ Î 
 ÍȼÌÍØ ßɨÍɭ ßʅ]  

 2.  ÖßɟÞɟÀØ ÍÙɡ ¾ɭ ÔÞɦġ È MOR Þɭ ÏȕØĦ Î 
 ÛȎØĥ ÉÍØ ßɨÍɭ ßʅ] 

 3. MOR Þɭ ÏȕØ ÖßɟÞɟÀØ ÍÙɡ ¾ɥ ÀßØɟ| ¾Ö 
 ßɨÍɠ ßɮ]    

 4. MOR Þɭ ÏȕØ, ÖßɟÞɟÀØ ÍÙɡ ¾ɥ z×ȓ ¤Ûɰ 
 ÀßØɟ| yÒȎØÛȑÍxÍ ØßÍɠ ßʅ]   

 

28. Which of the following statements is TRUE in 

the case of Mid Oceanic Ridges (MOR)?  

 1.  Ocean floor basalt is Younger with distance 

 away from MOR  

 2.  Ocean floor basalt is older with distance 

 away from MOR  

 3. The depth of the ocean floor becomes less 

 with distance from MOR  

 4. The age and depth of the ocean floor remain 

 unchanged with distance from MOR 

 

29. ÏȓÔxÙÍɟ-ÖɰÊÙ Öʃ, ~ĥ Öɟ ¾ɥ ÒȎØÛßÑ Öȓć ×Í9 ßɨÍɠ ßɮ  

 1. ÃÙ¾Íɟ ʬÛɟØɟ    2.  ÞɰÛßÑ ʬÛɟØɟ   

 3. yεÕÛßÑ ʬÛɟØɟ    4.  θÛη¾ØÌ ʬÛɟØɟ   

 

29. In the asthenosphere, heat is mainly transported 

by   

 1. conduction   2. convection  

 3. advection   4. radiation  

 

30. yÒȼÒÌ θÛÍȑÍ {ÞÖʃ ßȓ×ɭ ÒȎØÛÍxÑ ʬÛɟØɟ ÖɟÒɟ 
ÅɟÍɟ ßɮ9  

 1. ÙĞ Ôɟ|     2. ¾ɨÌ  
 3. z×ÍÑ    4. Ĥ ×ɟÑÍɟ   
 

30. Shear strain is measured by changes in  

 1. length    2.  angle  

 3. volume   4.  viscosity  

 

 31. εÖŬ č ÛɟÙɟÖȓζ¿×ɟɰ ŢÖȓ¿Í9 {Ñ¾ɭ ¤¾ɟɰÍØ Òȏή×ʇ 
Þɭ ÔÑɠ ßʅ]  

 1. εÞεÙεÞ¾ ¤Ûɰ ÖʅηmÓ¾ ÔÑɟÛÈʇ ¾ɭ ÙɟÛɟ ŢÛɟß  
 2. ÐȕÙ ¤Ûɰ ÕĦ Ö 

 3. ÙɟÛɟ ŢÛɟß ¤Ûɰ č ÛɟÙɟ¿ɰÊɟĤ Ö  
 4. ÙɟÛɟ ŢÛɟß ¤Ûɰ yÒØȏÏÍ yÛÞɟÏ  

 

31. Composite volcanoes are mainly made up of 

alternate bands of  

 1. lava flows of silicic and mafic compositions   

 2. dust and ash  

 3. lava flows and pyroclasts  

 4. lava flows and eroded sediments 

 

32. H2O ¾ɥ ŢÃȓØÍɟ Öʃ ¾ɟ Þßɡ ŎÖ Ć ×ɟ ßɮ?  

 1. ÑÏɡ  >  ÕɩÖÅÙ  >  Ûɟ×ȓÖɰÊÙ   
 2. ÕɩÖÅÙ  >  Ûɟ×ȓÖɰÊÙ  > ÑÏɡ 
 3. Ûɟ×ȓÖɰÊÙ  > ÑÏɡ >  ÕɩÖÅÙ   
 4. ÕɩÖÅÙ  > ÑÏɡ  >  Ûɟ×ȓÖɰÊÙ 

 

32. Which is the correct order of abundance of 

H2O?  

 1. River > groundwater > atmosphere  

 2. Groundwater > atmosphere > river  

 3. Atmosphere > river > groundwater   

 4. Groundwater > river > atmosphere 

 

33. ÞȎØÍɟ ŢÛɟß Öʃ àɨÕ ¾ɥ Öɟŝɟ ¾ɨ ÒȎØÕɟθÝÍ 
¾ØÍɠ ¤¾ yθÛÖ Þɰć ×ɟ ßɮ9  

 1. Øɭ|Ñɦġ îÞn  Þɰć ×ɟ  
 2. ÷Øɟ}Ê Þɰć ×ɟ  
 3. ÖɮȒęÑɰÀ ÀȓÌɟɰ¾  
 4. Üɠġ ÊÞn  ŢɟÃÙ  

 

33. A dimensionless number that defines the 

degree of turbulence in streamflow is known 

as 

 1. Reynolds number  

 2. Froude number  

 3. Manning coefficient  

 4. Shields parameter  

 

34. ȑÑĞ Ñ Öʃ Þɭ ¾ɩÑ-Þɟ, ÕȕÒȗĥ Éɢ× yÒØÏÑ ¾ɟ yɰȑÍÖ 
×ɟ yĦ Îɟ| zÐɟØ Ħ ÍØ Ñßɡɰ ÔÑÍɟ?  

 1. ÞÖȓşɡ Ħ ÍØ   2. }ÒÑÏɡ  
 3. ÔɟɯÐ      4. ÆɠÙ   
 

34. Which one of the following does not form 

ultimate or temporary base level of subaerial 

erosion?  

 1. Sea level   2. Tributary 

 3. Dam    4. Lake  

 

35. Öɨé ¾ÉɨØÍɟ ÖɟÒŎÖ Öʃ ßʅ ¿ȑÑÅ9  
 1. εÞεÙ¾ɭÈ, ÷ɦĦ ÷ɭÈ, ¾ɦÔxÑɭÈ, ¦Ć Þɟ|î   
 2. εÞεÙ¾ɭÈ, ¾ɦÔxÑɭÈ, Ć ÙɨØɟ|î, Þġ ÷ɟ|î   
 3. εÞεÙ¾ɭÈ, ÷ɦĦ ÷ɭÈ, ¦Ć Þɟ|î, Ć ÙɨØɟ|î  

 4. εÞεÙ¾ɭÈ, ¾ɦÔxÑɭÈ, ÷ɦĦ ÷ɭÈ, Þġ ÷ɟ|î  
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35. Minerals in the Mohôs scale of hardness are  

 1. silicates, phosphates, carbonates, oxides 

 2. silicates, carbonates, chlorides, sulphides  

 3. silicates, phosphates, oxides, chlorides 

 4. silicates, carbonates, phosphates, sulphides  

 

36. ÔïÍɭ ßȓ×ɭ ¾ɨ×Ùɡ¾ØÌ ¾ɟ Þßɡ ŎÖ ßɮ  
 1. ÒɠÈ, εÙĈ Ñɟ|È, ȐÔÈȓÖɮÑ, zɰŝɟÞɟ|È  

 2. ÒɠÈ, ȐÔÈȓÖɮÑ, εÙĈ Ñɟ|È, zɰŝɟÞɟ|È 

 3. ÒɠÈ, εÙĈ Ñɟ|È, ŐɟÓɟm|È, ȐÔÈȓÖɮÑ 

 4. εÙĈ Ñɟ|È, zɰŝɟÞɟ|È, ȐÔÈȓÖɮÑ, ÒɠÈ 
 

36. The correct sequence of increasing 

coalification is  

 1. peat, lignite, bitumen, anthracite  

 2. peat, bitumen, lignite, anthracite   

 3. peat, lignite, graphite, bitumen 

 4. lignite, anthracite, bitumen, peat  

 

37. ØɟÞɟ×ȑÑ¾ yÒà× ¾ɭ ÏɩØɟÑ ¿ȑÑÅʇ ¾ɥ ÁÈÍɠ 
ȒĦÎØÍɟ ¾ɟ Þßɡ ŎÖ ßɮ9  

 1. Ć ÛɟÈxé, Óɭġ îĦ ÒɟØ, Òɟ|ØɦĆ ÞɠÑ, ̈ εÙÛɠÑ  

 2. Ć ÛɟÈxé, Òɟ|ØɦĆ ÞɠÑ, Óɭġ îĦ ÒɟØ, ̈ εÙÛɠÑ 

 3. Ć ÛɟÈxé, Òɟ|ØɦĆ ÞɠÑ, ̈ εÙÛɠÑ, Óɭġ îĦ ÒɟØ  
 4. Óɭġ îĦ ÒɟØ, ̈ εÙÛɠÑ, ¥Ğ ÷ɥÔɨÙ, Òɟ|ØɦĆ ÞɠÑ  
 

37. The correct order of decreasing stability of 

minerals during chemical weathering is    

 1. quartz, feldspar, pyroxene, olivine  

 2. quartz, pyroxene, feldspar, olivine  

 3. quartz, pyroxene, olivine, feldspar  

 4. feldspar, olivine, amphibole, pyroxene  

 

38. {Þɭ ζ¿Þ¾ɟÑɭ ¾ɭ εÙ¤ ę ×ȕÑÍÖ ÀȑÍÅ ~Åɟx ¾ɥ 
zĤ ×¾Íɟ ßɮ9  

 1. θÛÙɡÑ ÕɟØ  

 2. ȑÑÙɰȐÔÍ ÕɟØ  

 3. Ûġ ÀÑ ÕɟØ  

 4. ÍÙ ÕɟØ  

 

38. The least kinetic energy is required to move  

 1. dissolved load 

 2. suspended load  

 3. saltation load  

 4. bed load  

 

39. ÖĘ × yàɟɰÜɠ ÖȼĦ ÎÙ ȒĦÎÍ ßʅ  

 1.  ȏßÖÑȏÏÍ àɭŝʇ Öʃ    

 2. ÖßɟʬÛɠÒʇ ¾ɭ zɰÍȎØ¾ àɭŝʇ Öʃ 

 3. ÖßɟʬÛɠÒʇ ¾ɭ ÒȒĤÃÖɠ ÕɟÀʇ Öʃ  

 4. ÖßɟʬÛɠÒʇ ¾ɭ ÒȕÛɶ ÕɟÀʇ Öʃ  
 

39. Mid- latitude deserts are located 

 1.  in glaciated regions   

 2. in interiors of continents  

 3. on the western sides of continents  

 4. on the eastern sides of continents  

 

40. ÞȕÃɠ-I ¾ɭ θÛÝ×ʇ ¾ɨ ÞȕÃɠ-II  ¾ɭ θÛÝ×ʇ ¾ɭ ÞɟÎ 
ÞȓÖɭεÙÍ ¾Øʃ] Þßɡ }ĕ ÍØ ¾ɨ ȑÑĞ Ñ Þɰ¾ɭÍʇ Öʃ Þɭ 
ÃȓÑʃ]  

  

ÞȕÃɠ-I ÞȕÃɠ-II  
A. zÐɟØ Ħ ÍØ  P. ÍÙɨċ ÃÑ   
B. ÀȓɰηÓÍ ÅÙÖɟÀx  Q. ÆɠÙ  
C. κÀȎØÍɟÙ  R. Ħ ÎÙɡ-Ţɟ×   
D. ȏÈÙ  S. yÒɨï   

 

 A B C D 

1. R P Q S 

2. P R Q S 

3. R S Q P 

4. R P S Q 

 

40. Match the items under the List-I with those 

under List-II. Select the correct answer using 

the codes given below. 

  

List-I List-II  

A. Base level  P. Aggradations  

B. Braided channel  Q. Lake  

C. Tarn  R. Peneplain  

D. Till  S. Drift  

 

 A B C D 

1. R P Q S 

2. P R Q S 

3. R S Q P 

4. R P S Q 

 

 

41. ÞÖȓşÍÙ Öʃ ÐÑɟ×Ñʇ ¾ɥ ŢÃȓØÍɟ ¾ɟ Þßɡ ŎÖ ßɮ  
 1. ÒɨÈɟεÜ×Ön   > Ħ ŘɟɰȏÈ×Ön  > ÞɨιÊ×Ön  > ÖɮĈ ÑɠεÜ×Ön   
 2. ÞɨιÊ×Ön   > Ħ ŘɟɰȏÈ×Ön  > ÖɮĈ ÑɠεÜ×Ön  > ÒɨÈɟεÜ×Ön   
 3. ÞɨιÊ×Ön   > ÖɮĈ ÑɠεÜ×Ön  > ÒɨÈɟεÜ×Ön   > Ħ ŘɟɰȏÈ×Ön  
 4. ÖɮĈ ÑɠεÜ×Ön  > Ħ ŘɟɰȏÈ×Ön  > ÒɨÈɟεÜ×Ön   > ÞɨιÊ×Ön   
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41. The correct order of abundance of cations in 

seawater is  

 1. potassium > strontium > sodium > magnesium 

 2. sodium > strontium > magnesium > potassium 

 3. sodium > magnesium > potassium >strontium 

 4. magnesium > strontium > potassium >sodium 

 

42. ÞÖȓşɡ ŎĦ ÈɨεÜ×ɟ{×ʇ Öʃ {Þ ÀÌ Öʃ }ċ ÃÍÖ 
Þɰć ×ɟ ¾ɥ ŢÅɟȑÍ×ɟɰ θÛȏÏÍ ßʅ  

 1. ÅɰÕÒÏ¾   2. ¾ɦθÒÒɨîɟ  
 3. ŤʅκÃ×ɨÒɨîɟ   4. ¦Ħ Řɮ¾ɨîɟ  
 

42. Among marine crustaceans, the largest 

number of species are known from the order 

 1. Maxillipoda  2.     Copepoda 

 3. Branchiopoda  4.     Ostracoda 

 

43. ÛÍxÖɟÑ ÞÖÆ ¾ɭ yÑȓÞɟØ, ÞÖȓşɡ Öĕ Ħ × ÷ÞÙ 
ÒØ ßɟȑÑ¾ɟØ¾ yÞØ Ø¿Ñɭ ÛɟÙɡ ŢηŎ×ɟ¨ɰ ¾ɭ Þßɡ 
ŎÖ ¾ɨ ÒßÃɟÑʃ9  

 1. ¤Ù-Ñɠę ×ɨ > ÅÙÛɟ×ȓ ÒȎØÛÍxÑ > ŢÏȕÝÌ > 
 yȑÍÖĕ Ħ ×Ñ 

 2. yȑÍÖĕ Ħ ×Ñ  > ŢÏȕÝÌ > ÅÙÛɟ×ȓ  ÒȎØÛÍxÑ > 
 ¤Ù-Ñɠę ×ɨ  

 3. ÅÙÛɟ×ȓ ÒȎØÛÍxÑ >ŢÏȕÝÌ > ¤Ù-Ñɠę ×ɨ > 

 yȑÍÖĕ Ħ ×Ñ 

 4. ŢÏȕÝÌ > ¤Ù-Ñɠę ×ɨ > yȑÍÖĕ Ħ ×Ñ  > 

 ÅÙÛɟ×ȓ ÒȎØÛÍxÑ 
 

43. Given the present understanding, identify the 

correct sequence of impacts that adversely 

affect the marine fish harvests. 

 1. El-Nino > climate change> pollution 

 >overfishing 

 2. Overfishing >pollution>climate change>El- 

 Nino 

 3. Climate change>pollution>El-Nino> 

 overfishing 

 4. Pollution> El-Nino> overfishing> climate 

 change 

 

44. 100 ßɮĆ ÈɭØ ¾ɭ ¤¾ àɭŝ Öʃ ÕɩÖ ÅÙĦ ÍØ ÙÀɟÍɟØ 
ÕɩÖÅÙ ÒɰÒÑ ¾ɭ ¾ɟØÌ 5 ÖɠÈØ κÀØɟ] ÅÙÕØ ¾ɥ 
ÞØɰŠÍɟ ×ȏÏ 25% ßɮ ÍÎɟ θÛεÜĥ È yÛÐɟØÌ 10%  
ßɮ Íɨ ÅÙÕØ ¾ɥ θÛεÜĥ È ŢɟȒĚÍ ßɮ  

 1. 25%    2. 20% 

 3. 15%    4. 10% 

 
 

44. In an area of 100 ha, the water table dropped 

by 5 m due to continuous ground water 

pumping. If the porosity of the aquifer is 25% 

and the specific retention is 10%, then the 

specific yield of the aquifer is   

 1. 25%    2. 20% 

 3. 15%    4. 10% 

 
45. ȑÑĞ Ñ ŢɟÃÙʇ Öʃ Þɭ ¾ɩÑ-Þɟ, ÞÖÒØɟÞØÌɠ ¤¾-

¾ɨεÜ¾ɟ×ɠ Ě ÙÛ¾ɥ ÞÖȓşɡ ÅɠÛ ¾ɭ εÙ×ɭ yġ ÒÍÖ 
~Åɟx ¾ɭ ģ ×× ÒØ yÒÑɭ ~Ę ÛɟxÐØ Ħ ÎɟÑ ÔÑɟ×ɭ 
Ø¿Ñɭ ¾ɭ εÙ¤, yĕ ×ɰÍ yȑÑÛɟ×x ßɮ?  

 1. ÙÛÌÍɟ    2. àɨÕ   
 3. ÁÑĕ Û     4. Ĥ ×ɟÑÍɟ   
 

45. Which one of the following parameters is most 

vital for an isosmotic, single celled planktonic 

marine organism to expend least energy to 

maintain its vertical position?  

 1. Salinity   2. Turbidity  

 3. Density   4. Viscosity  

 

46. ÏɨÑʇ ÀɨÙɟÐʝ Öʃ Ôîɭ ÖɟÒŎÖ ÛɟÙɭ ÖßɟÞɟÀØɡ 
ÒȎØÞɰÃØÌ, Åɨ ÒɟÜ ÔÑɟÍɭ ßʅ ÍÎɟ ÒȎØťÖ 
¾ßÙɟÍɭ ßʅ, {Þ ¾ɟØÌ ÁȏÈÍ ßɨÍɭ ßʅ9  

 1. yàɟɰÜ ¾ɭ ÞɟÎ ÞÖȓşÅÙ ¾ɭ ÍɟÒ Öʃ 
 θÛεÕę ÑÍɟ×ʃ  

 2. yàɟɰÜ ¾ɭ ÞɟÎ ÞÖȓşÅÙ ¾ɥ ÙÛÌÍɟ Öʃ 
 θÛεÕę ÑÍɟ×ʃ  

 3. ¾ɨȎØ×ɨÙɡ ŢÕɟÛ  

 4. ÖßɟÞÖȓşɡ }ĕ ŮÛÌ  
 

46. Large scale oceanic circulation forming loops 

in both hemispheres, known as gyres, occurs 

due to  

 1. temperature differences in waters across 

 latitudes  

 2. salinity differences in waters across 

 latitudes  

 3. Coriolis effect  

 4. oceanic upwelling  

 

47. ȏßÖɟÑɠ ×ȓÀʇ ¾ɭ ÏɩØɟÑ ÖßɟÞɟÀØʇ ¾ɥ ©ÞÍ 
ÙÛÌÍɟ  

 1. Ôïɡ]     
 2. ÁÈɡ]    
 3. yÒȎØÛȑÍxÍ Øßɡ]  

 4. ŢÜɟɰÍ ÖßɟÞɟÀØ Öʃ }ċ ÃÍÖ Øßɡ]  
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47. Average salinity of the oceans during the 

glacial periods 

 1. increased    

 2. decreased   

 3. remained unchanged 

 4. was the highest in the Pacific Ocean  

 

48. yɰÍ9Ħ ×ɰÏÑ ÖɟĘ ×Ö ¾ɥ ÐɟȎØÍɟ ÀȑÍ ÒØ ÁȏÈÍ  
 ßɨÍɟ ßɮ  

 1. ÅÙÞɰÕØ Þɭ ŮÛÌ ¾ɭ ¾ɟØÌ]  

 2. ÅÔ ÛÝɟx ¾ɥ ÍɠūÍɟ ÐɟȎØÍɟ ÀȑÍ Þɭ yκÐ¾ ßɮ]  

 3. ÅÔ ÛÝɟx ¾ɥ ÍɠūÍɟ ÐɟȎØÍɟ ÀȑÍ Þɭ ¾Ö ßɮ] 

 4. ¤¾ ÙɰÔɠ Üȓĥ ¾n  yÛκÐ ¾ɭ ÁȏÈÍ ßɨÑɭ Þɭ]  

 
48. Infiltration occurs at the capacity rate of the 

medium  

 1. due to watershed leakage  

 2. if the intensity of rainfall is higher than the 

 capacity rate  

 3. if the intensity of rainfall is lower than the 

 capacity rate 

 4. if there had been a long dry spell  

 

49. ÁÈÍɠ ÃȓɰÔ¾ɥ× ÞȓŐɟȏßÍɟ ¾ɟ Þßɡ ŎÖ Ć ×ɟ ßɮ?  
 1. ÖɮĈ ÑɭÈɟ|È, θÒØxßɨÈɟ|È, ßɮÖɟÈɟ|È, Ħ ÷ɮÙɟØɟ|È  
 2. ÖɮĈ ÑɭÈɟ|È, ßɮÖɟÈɟ|È,  θÒØxßɨÈɟ|È, Ħ ÷ɮÙɟØɟ|È 

 3. ÖɮĈ ÑɭÈɟ|È, ßɮÖɟÈɟ|È,  Ħ ÷ɮÙɟØɟ|È, θÒØxßɨÈɟ|È 

 4. θÒØxßɨÈɟ|È, ÖɮĈ ÑɭÈɟ|È, Ħ ÷ɮÙɟØɟ|È, ßɮÖɟÈɟ|È 

  

49. What is the correct sequence of decreasing 

order of magnetic susceptibility?  

 1. magnetite, pyrrhotite, haematite, 

 sphalerite 

 2. magnetite, haematite,  pyrrhotite, 

 sphalerite 

 3. magnetite, haematite,  sphalerite, 

 pyrrhotite 

 4. pyrrhotite, magnetite, sphalerite , 

 haematite 
 

50. ×ȏÏ ÒȗĖ Ûɠ ÒØ zÛȎØÍ Ûɟ×ȓÖɰÊÙ yÃɟÑ¾ Àɟ×Ô 
ßɨ ÅɟÍɟ ßɮ, Íɨ ȑÑĞ Ñ Öʃ Þɭ ¾ɩÑ-Þɟ ÒȗĖ Ûɠ ÒØ 
Ñßɡɰ ÁȏÈÍ ßɨÀɟ? 

 1. Õȕč ÛɟØ  
 2. ÞȓÑɟÖɠ   

 3. Ě ÙɮÈ ÀȑÍÜɠÙÍɟ  

 4. ÃȓɰÔ¾ɥ× Íȕ÷ɟÑ   

 

50. If the atmosphere surrounding the Earth 

disappears suddenly, which one of the 

following will NOT occur on the Earth? 

 1. Earth tides 

 2. Tsunamis 

 3. Plate motions 

 4. Magnetic storms 

 

51. ȑÑĞ Ñ ÖßɟÞɟÀØɡ× ŢηŎ×ɟ¨ɰ Öʃ Þɭ ¾ɩÑ-Þɟ, ÒȗĖ Ûɠ 
¾ɭ ÷ɟĦ ÷ɭÈ ×ȓĆ Í yÛÞɟÏɡ ÜɮÙʇ Öʃ yκÐ¾ɟɰÜ ¾ɟ 
ȏßÞɟÔ ÏɭÍɟ ßɮ? 

 1. ~ĥ ÖÙÛÌɠ× ÒȎØÞɰÃØÌ  

 2. ÍÈɡ× }ĕ ŮÛÌ  
 3. ÕȕÖĘ ×Øɭ¿ɠ yÒÞØÌ  

 4. }Òɨĥ Ì¾ȏÈÔǦ yεÕÞØÌ  

 

51. Which of the following oceanic processes 

accounts for most of the Earthôs sedimentary 

rocks containing phosphates? 

 1. Thermohaline circulation 

 2. Coastal upwelling 

 3. Equatorial divergence 

 4. Subtropical convergence 

 

52. ÛÍxÖɟÑ ¾ɥ ÍȓÙÑɟ Öʃ θÒÄÙɭ ȏßÖɟÑɠ }ċ ÃÍÖ ¾ɭ 
ÏɩØɟÑ ÞÖȓşĦ ÍØ η¾ÍÑɟ ÑɠÃɭ Îɟ? 

 1. ~100 m   2. ~400 m 

 3. ~500 m   4. ~1000 m 

 

52. By how much was the sea level lower during 

the Last Glacial Maximum relative to the 

present? 

 1. ~100 m   2. ~400 m 

 3. ~500 m   4. ~1000 m 

 

53. ȑÑĞ Ñ ÐɟØɟ¨ɰ Öʃ Þɭ ¾ɩÑ-Þɠ ÕȕÖĘ ×Øɭ¿ɟ ¾ɥ ÍØ÷ 
ÔßÍɠ ßɮ? 

 1. ¿ɟîɠ ÞȎØÍɟ  

 2. ŤɟéɠÙ ÐɟØɟ  

 3. ÔɭÑÀȓ×ɭÙɟ ÐɟØɟ  

 4. ¾ȓØɨεÜ×ɨ ÐɟØɟ  

 

53. Which one of the following currents flows 

equatorward? 

 1. Gulf Stream 

 2. Brazil Current 

 3. Benguela Current 

 4. Kuroshio Current 
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54. ÖßɟÞÖȓşʇ Öʃ ŢɟÎεÖ¾ }ĕ ÒɟÏ¾Íɟ {Þ¾ɟ Þɰ¾ɭÍ ßɮ9  
 1. ÖßɟÞÖȓşɡ ÞÍß Öʃ ȒĦÎØɡ¾ȎØÍ ¾ɦÔxÑ ¾ɥ Öɟŝɟ  

 2. Þȕ×xŢ¾ɟεÜÍ ÖßɟÞɟÀØɡ× ~ÒØɡ ÒØÍ Öʃ ¾ɦÔxÑ 
 ȒĦÎØɡ¾ØÌ ¾ɥ ÀȑÍ  

 3. ÞÖȕÃɭ ÖßɟÞɟÀØɡ× ÅÙ Ħ ÍɰÕ Öʃ ¾ɦÔxÑ 
 ȒĦÎØɡ¾ØÌ ¾ɥ ÀȑÍ  

 4. ÖßɟÞÖȓşɡ ÞÍß Öʃ Ě ÙÛ¾ʇ ¾ɥ ÅɮÛ ÀȑÍθÛκÐ  
 

54. Primary productivity in the ocean refers to  

 1. amount of carbon fixed in the ocean surface 

 2. rate of carbon fixation in the sunlit upper 

 layer of the ocean 

 3. rate of carbon fixation in the entire ocean 

 water column 

 4. biological activity of plankton in the 

 surface of the ocean  

 

55. ÔïÍɠ ÞÍßɡ ÙÛÌÍɟ ¾ɭ zÐɟØ ÒØ ȑÑĞ Ñ 
ÖßɟÞÖȓşɡ şɨζÌ×ʇ ¾ɨ ŎεÖÍ ¾Øʃ: 

 A.  ÖȗÍ ÞɟÀØ  
 B.  ÙɟÙ ÞɟÀØ  
 C.  ÕȕÖĘ × ÞɟÀØ   

 D.  yØÔ ÞɟÀØ  

 1. D, C, B, A  2. D, B, C, A 

 3. D, A, B, C  4. A, B, C, D  

 

55. Arrange the following ocean basins in the 

increasing order of surface salinity: 

 A.  Dead Sea    

 B.  Red Sea    

 C.  Mediterranean Sea    

 D.  Arabian Sea 

 1. D, C, B, A  2. D, B, C, A 

 3. D, A, B, C  4. A, B, C, D 

 

56. ØɮÙɭ ÍØɰÀʇ ¾ɥ  

 1. ŢȑÍÀɟÖɠ ¾Ì ÀȑÍÜɠÙÍɟ ßɮ ÍÎɟ ÖɟĘ ×Ö ¾ɥ 
 S-ÍØɰÀ ÀȑÍ Þɭ ÙÀÕÀ 10% ¾Ö ÀȑÍ ßɨÍɠ ßɮ]  

 2. yÑȓÀɟÖɠ ¾Ì ÀȑÍÜɠÙÍɟ ßɮ ÍÎɟ ÖɟĘ ×Ö ¾ɥ 
 S-ÍØɰÀ ÀȑÍ Þɭ ÙÀÕÀ 10% ¾Ö ÀȑÍ ßɨÍɠ ßɮ] 

 3. ŢȑÍÀɟÖɠ ¾Ì ÀȑÍÜɠÙÍɟ ßɮ ÍÎɟ ÖɟĘ ×Ö ¾ɥ 
 S-ÍØɰÀ ÀȑÍ Þɭ ÙÀÕÀ 10% ¾Ö yκÐ¾ ßɨÍɠ 
 ßɮ] 

 4. yÑȓÀɟÖɠ ¾Ì ÀȑÍÜɠÙÍɟ ßɮ ÍÎɟ ÖɟĘ ×Ö ¾ɥ 
 S-ÍØɰÀ ÀȑÍ Þɭ ÙÀÕÀ 10% yκÐ¾ ÀȑÍ ßɨÍɠ 
 ßɮ]  

 

 

 

56. Rayleigh waves have 

 1. retrograde particle motion and velocity 

 about 10% less than S-wave velocity of  the 

 medium 

 2. prograde particle motion and velocity about 

 10% less than S-wave velocity of the medium 

 3. retrograde particle motion and velocity about 

 10% more than S-wave velocity of the 

 medium 

 4. prograde particle motion and velocity about 

 10%more than S-wave velocity of the 

 medium  

 

57. ȑÑÃÙɭ ŢɟÛɟØ ¾ɥ ÍȓÙÑɟ Öʃ, zɰÍȎØ¾ ŎɨÊ ßɮ  

 1. ¾Ö ȸï ÍÎɟ Õȕ¾ɰÒɠ ÍØɰÀʇ ¾ɥ yġ ÒÍØ ÀȑÍ 
 Ø¿Íɟ ßɮ]  

 2. ¾Ö ȸï ÍÎɟ Õȕ¾ɰÒɠ ÍØɰÀʇ ¾ɥ yκÐ¾ÍØ ÀȑÍ 
 Ø¿Íɟ ßɮ] 

 3. yκÐ¾ ȸï ÍÎɟ Õȕ¾ɰÒɠ ÍØɰÀʇ ¾ɥ yκÐ¾ÍØ 
 ÀȑÍ Ø¿Íɟ ßɮ] 

 4. yκÐ¾ ȸï ÍÎɟ Õȕ¾ɰÒɠ ÍØɰÀʇ ¾ɥ yġ ÒÍØ ÀȑÍ 
 Ø¿Íɟ ßɮ] 

 

57. Compared to the lower mantle, the inner core is 

 1. less rigid and has smaller seismic wave 

 velocities 

 2. less rigid and has larger seismic wave 

 velocities 

 3. more rigid and has larger seismic wave 

 velocities 

 4. more rigid and has smaller seismic wave 

 velocities 

 

58. ×ß ÖɟÑÍɭ ßȓ¤ η¾ ÒȗĖ Ûɠ ¾ɟ ÃȓɰÔ¾ɥ× àɭŝ ÜȓǦÍ9 
ʬθÛŠȓÛɠ ßɮ, ¾ȓÙ ÃȓɰÔ¾ɥ× àɭŝ ¾ɥ ÍɠūÍɟ ¾ɟ 
ÃȓɰÔ¾ɥ× yàɟɰÜ 45̄  ÍÎɟ ÕȕÖĘ ×Øɭ¿ɟ Öʃ yÑȓÒɟÍ 
ßɨÀɟ9  

 1. 2    2. υςϳ  

 3. ρЍςϳ    4. ЍυȾς  
 

58. Assuming the Earthôs magnetic field to be 

purely dipolar, the ratio of total magnetic field 

intensity at 45̄ magnetic latitude to that at the 

equator will be 

 1. 2    2. υςϳ  

 3. ρЍςϳ    4. ЍυȾς 
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59. ¾ɨÌ 30̄  Öʃ zÒȑÍÍ ¤¾ Õȕ¾ɰÒɠ η¾ØÌ ¾ɨÌ 45̄ 
Öʃ yÒÛȑÍxÍ ßɨÍɟ ßɮ] ×ȏÏ ~ÒØɡ ÒØÍ Öʃ ÀȑÍ 
v1= 2.0 km/s, ßɮ Íɨ ȑÑÃÙɡ ÒØÍ Öʃ ÀȑÍ ÙÀÕÀ 
ßɮ  

 1. 2.2 km/s   2. 2.4 km/s 

 3. 2.6 km/s   4. 2.8 km/s  

 

59. A seismic ray incident at an angle of 30 ̄is 

refracted at an angle of 45̄. If the velocity in 

the upper layer is v1= 2.0 km/s, then the 

velocity in the underlying layer is close to 

 1. 2.2 km/s  2. 2.4 km/s 

 3. 2.6 km/s  4. 2.8 km/s 

 

60. ÞɰÍȗĚ ÍÍɟ Í¾ ÞÖÏɟÔɠ ÜɠÍÑ ʬÛɟØɟ Ûɟ×ȓÖɰÊÙ 
ʬÛɟØɟ ŢɟĚ Í ÍɟÒ {Þ ÑɟÖ Þɭ θÛȏÏÍ ßɮ  

 1. Íȓġ × ÍɟÒ  

 2. ¨Þ ȐÔɰÏȓ ÍɟÒ  
 3. ÀɠÙɟ Ôġ Ô ÍɟÒ  

 4. ÒØɨà ÍɟÒ   

 

60. The temperature attained by the atmosphere 

by isobaric cooling to saturation is known as 

 1. equivalent temperature 

 2. dew point temperature 

 3. wet-bulb temperature 

 4. virtual temperature 

 

61. ÏνàÌ ÒȒĤÃÖ ÖɟÑÞȕÑ ¾ɭ ÏɩØɟÑ ÞÖȓş ÞÍßɡ ÍɟÒ 
¾ɨ ÖɟÒÑɭ ¾ɭ εÙ¤ ȑÑĞ Ñ ÞɰÛɭÏ¾ʇ Öʃ Þɭ η¾Þ¾ɟ 
}Ò×ɨÀ ßɨ Þ¾Íɟ ßɮ? 

 1. ȸĤ × ÖɟÑ   2. yÛØĆ Í  
 3. ÞȕĨ ÖÍØɰÀɠ   4. ~ĥ Öɠ    

 

61. Which of the following sensors can be used 

for measuring SST during the South-West 

monsoon? 

 1. Visible   2. Infrared 

 3. Microwave  4. Thermal 

 

62. ÕɟØÍ ¾ɭ ~ÒØ Őɠĥ Ö ÖɟÑÞȕÑ ¾ɭ ÔÙ ¾ɭ εÙ¤ 
ßɟȑÑ¾ɟØ¾ ȑÑĞ Ñ Öʃ Þɭ ¾ɩÑ-Þɟ ßɮ? 

 1. }ċ Ã Ħ ÍØɡ× ÒȕÛxÀɟÖɠ ÅɭÈĦ ŘɡÖ ¾ɥ }ĕ ÍØ ¾ɥ 
 ÍØ÷ ÀȑÍÜɠÙÍɟ  

 2. ÖɟĦ ¾ØɡÑ }ċ Ã ¾ɟ ÔÙɟÛɟÑ ßɨ ÅɟÑɟ  

 3. ÔÙÛɟÑ ÒĤ ÃÀɟÖɠ ÅɭÈĦ ŘɡÖ  
 4. ȑÍĜ ÔÍɠ ŢȑÍÃŎÛɟÍ ¾ɟ yÒÑɭ ©ÞÍ Ħ ÎɟÑ Þɭ 

 ÒȒĤÃÖ ¾ɥ ©Ø ζ¿Þ¾ ÅɟÑɟ]  

  

62. Which one of the following is detrimental to 

summer monsoon strength over India? 

 1. Northward movement of upper level 

 westerly jet stream 

 2. Strengthened Mascarene high 

 3. Strengthened easterly jet stream 

 4. Shift of Tibetan anticyclone to the west 

 of its mean position 
 

63. ȏÏġ Ùɡ ¾ɥ ÍȓÙÑɟ Öʃ, ¾ɨÙʇÔɨ Öʃ ÒȗĖ Ûɠ ¾ɟ ÞɟÖɟę × 
Àȓȼĕ Û àɭŝ ßɮ  

 1. yġ ÒÍØ Ć ×ʇη¾ ŬɠÙɰ¾ɟ ÅÙ Þɭ ȑÁØɟ ßɮ]  

 2. yκÐ¾ÍØ Ć ×ʇη¾ ŬɠÙɰ¾ɟ ¾ɭ ÑɠÃɭ ÖßɟÞɟÀ Øɡ× 
 ÒÒxÈɡ yκÐ¾ ȑÄÄÙɟ ßɮ]  

 3. yκÐ¾ÍØ Ć ×ʇη¾ ŬɠÙɰ¾ɟ ÞÖĦ ÎɮȑÍ¾Í9 
 ŢȑÍ¾ɟȎØÍ ßɮ]  

 4. yġ ÒÍØ, ¾ɨÙʇÔɨ ¾ɭ ÕȕÀɨεÙ× Ħ ÎɟÑ ¾ɭ ¾ɟØÌ]   

 

63. Compared to Delhi, Earthôs normal gravity 

field at Colombo is 

 1. smaller as Sri Lanka is surrounded by water 

 2. larger as the oceanic crust below Sri Lanka 

 is shallower 

 3. larger as Sri Lanka is isostatically 

 compensated 

 4. smaller because of Colomboôs geographic 

 location  

 

64. ÒȗĖ Ûɠ ¾ɥ ÞÍß Öʃ, ę ×ȕÑÍÖ ÕȕÃȓɰÔ¾ɥ× àɭŝ ÍɠūÍɟ 
ÛɟÙɡ ȐÔÏȓɰ̈ɰ ¾ɨ εÖÙɟÍɟ ßȓz ÛŎ ßɮ  

 1. ¤¾ ÃȓɰÔ¾ɥ× ÞÖÒȎØÛÍxÑ Øɭ¿ɟ  
 2. ¤¾ ÞÖȏÏ¾ÒɟÍɠ Øɭ¿ɟ  

 3. ÃȓɰÔ¾ɥ× ÏɡÁɟʋÜ  

 4. ÃȓɰÔ¾ɥ× ÕȕÖĘ × Øɭ¿ɟ  

 

64. The curve joining the points of the least 

geomagnetic field intensity on the Earthôs 

surface is 

 1. an isopore 

 2. an isogone  

 3. the magnetic meridian  

 4. the magnetic equator 

 

65. ¾ÒɟÞɠ ÖɭÁʇ ÒØ ßÛɟ ¾ɟ zȼï ßɨÑɟ {Þ ÒØ 
ÒȎØÌεÖÍ ßɨÍɟ ßɮ9  

 1. ÖɭÁ ¾ɟ ~ĥ Öɠ¾ØÌ  
 2. ÖɭÁ Öʃ şÛ-ÅÙ ÔÑɟÛÈ ¾ɥ ÛȗθǦ  
 3. }ĕ Ě ÙɟÛ¾Íɟ Öʃ ÛȗθǦ  
 4. }ĕ Ě ÙɟÛ¾Íɟ Öʃ ¾Öɠ   
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65. Entrainment of air into cumulus clouds results 

in 

 1. warming of the cloud 

 2. increased liquid water content in the cloud  

 3. increase of buoyancy 

 4. decrease of buoyancy 

 

66. ȏßÖɟÙ×ɠ Õȕ¾ɰÒʇ ¾ɭ ÞɰÏÕx Öʃ η¾×ɭ À×ɭ ȑÑĞ Ñ 
¾ÎÑʇ Öʃ Þɭ ¾ɩÑ-Þɟ ÛɮÐ ßɮ?  

 1. }Ñ ÞÔ¾ɥ Öɟŝɟ×ʃ  6.0 Þɭ yκÐ¾ ßɮ]   

 2. }Ñ¾ɭ yÛ¾ʃş 70 km Þɭ yκÐ¾ ÀßØɟ| ÒØ ßʅ]  

 3. Ûɭ ÞÕɠ ȼÒɟɰÍɰȎØÍ ťɰÜʇ ¾ɭ ÞÖɟɰÍØ ÁȏÈÍ  
  ßɨÍɭ  ßʅ]  

 4. ȏßɰÏÖßɟÞɟÀØ ¾ɭ yÐ9Ħ ÍÙ Öʃ ßɨÍɭ θÛĦ ÍɟØÌ Þɭ 
 Ûɭ ÞÔ ÞɰÔɰκÐÍ ßʅ]  

 

66. Which one of the following statements with 

reference to earthquakes in the Himalaya is 

valid? 

 1. They all have magnitudes > 6.0 

 2. Their hypocenters are located deeper than 

 70 km 

 3. They occur along transform faults 

 4. They are related to spreading in the Indian 

 Ocean floor 

 

67. ×ȏÏ ÒȗĖ Ûɠ ¾ɟ Ûɟ×ȓÖɰÊÙ H2  Þɭ ÔÑɟ ßɨÍɟ, Íɨ ¥Þɭ  
Ûɟ×ȓÖɰÊÙ ¾ɟ ÖɟÒŎÖ ~ɯÃɟ| Ć ×ɟ ßɨÍɠ? 

 1. 8 km    2. 120 km  
 3. 100 km   4. 75 km  
 

67. If the Earthôs atmosphere were made of H2, 

what would be the scale height of such an 

atmosphere? 

 1. 8 km   2. 120 km 

 3. 100 km   4. 75 km 

 

68. ÞÍßɡ ÖßɟÞÖȓş Öʃ θÛÙɡÑ N2 & O2 ÍÎɟ θÛÙɡÑ 
CO2 Öʃ ŢÖȓ¿ yɰÍØ Ć ×ɟ ßɮ? 

 1. N2 & O2 ¾ɥ θÛÙɭ×Íɟ×ʃ CO2 η¾ θÛÙɭ×Íɟ ¾ɥ 
 yÒɭàɟ ¾ßɡɰ yκÐ¾ ßʅ]    

 2. N2 & O2 ¾ɥ θÛÙɭ×Íɟ×ʃ CO2 η¾ θÛÙɭ×Íɟ ¾ɭ  
  ÞÖɟÑ ßʅ]  

 3. N2 & O2 ¾ɥ θÛÙɭ×Íɟ¨ɰ ¾ɥ ÍɟÒ-ȑÑÕxØÍɟ, CO2  

  ¾ɥ θÛÙɭ×Íɟ ¾ɥ ÍɟÒ ȑÑÕxØÍɟ Þɭ }ġ Èɡ ßɮ]  

 4. θÛÙɡÑ ßɨÑɭ ÒØ CO2 ¾ɥ 'ØɟÞɟ×ȑÑ¾( ŢÅɟȑÍ×ɟɰ 
 ÔÑÍɠ ßʅ ÅÔη¾  N2 & O2  ¾ɥ Ñßɡɰ] 

 

 

 

68. What is the major difference between 

dissolved N2 & O2 in the surface ocean and 

dissolved CO2? 

 1. Solubilities of N2 & O2 are more than that 

 of CO2 

 2. Solubilities of N2 & O2 are the same as that  
 of CO2 

 3. The temperature dependence of the  

  solubilities of N2 & O2 is opposite to that  

  of CO2 

 4. CO2 speciates on dissolution whereas N2 & 

 O2 do not 

 

69. ÀɰÕɠØÍÖ εÖκŬÍ ÒØÍ Òɟ×ɟ ÅɟÍɟ ßɮ  

 1. ÕȕÖĘ × Øɭ¿ɟ ÒØ   

 2. }ĕ ÍØɡ }Ín ÍØ yÈÙʅȏÈ¾ ÒØ  

 3. }Òɨĥ Ì¾ȏÈÔǦɠ ÒȎØťÖ ÒØ  

 4. }ĕ ÍØɡ ȏßɰÏ ÖßɟÞɟÀØ ÒØ    

 

69. The deepest mixed layer is found at the  

 1. Equator 

 2. Northern North Atlantic 

 3. Subtropical gyres 

 4. Northern Indian Ocean 

 

70. ×ß ÖɟÑÍɭ ßȓ¤ η¾ Ûɟ×ȓÖɰÊÙ ÒȗĖ Ûɠ ¾ɥ ÞÍß Þɭ 
Ùɭ¾Ø 200 km ~ɯÃɟ| Í¾ θÛĦ ÍȗÍ ßɮ, ÜɠÍÍÖ àɭŝ 
Òɟ×ɟ Åɟ×ɭÀɟ ÙÀÕÀ  

 1. 16 km ÒØ  2. 50 km ÒØ 
 3. 80 km ÒØ  4. 140 km ÒØ 
 

70. Considering the atmosphere from the surface 

to 200 km altitude, the coldest region would 

be found around 

 1. 16 km   2. 50 km 

 3. 80 km   4. 140 km 

 

 

 

 

 

 

 

 



17 
 

Hkkx \PART 'C' 

71. ÅɮÞɭ ¿ɨ¾ɭ Öʃ ÏÜɟx×ɟ À×ɟ ßɮ, ¤¾ Òȕ-Ò Êɟ|¾ ¤¾ 
}-Ï Íę × yÒȼÒÌ àɭŝ ʬÛɟØɟ ŢÕɟθÛÍ ßɮ] 
yÒȼÒÌ yεÕȏÏÜɟ ÍÎɟ yÒȼÒÌ θÛ¾ȗȑÍ ßʅ 

  

 1. ÛɟÖɟÛÍx ¤Ûɰ 0.7   

 2. ÏνàÌɟÛÍx ¤Ûɰ 1.0 

 3. ÏνàÌɟÛÍx ¤Ûɰ 0.6  

 4. ÛɟÖɟÛÍx ¤Ûɰ 1.0 

 

71. An E-W dyke is affected by an N-S ductile 

shear zone as shown in the sketch. The shear 

sense and shear strain are 

  
 1. sinistral and  0.7 2.  dextral and 1.0 

 3. dextral and 0.6  4.  sinistral and 1.0 

 

72. ÒȎØ-ŢÜɟɰÍ ÖßɟÞɟÀØɡ× yġ ÒÍɟÒɠ× Ħ ÛÌx ȑÑàɭÒ, 
I-Ţ¾ɟØ ¾ɭ ŐɮȑÑȏÈ¾ ÖɮĈ Öɟ Þɭ ÞɰÀÍ ßʅ ȒÅÑ¾ɭ  

 1. yġ Ò H2O ßɮ ÍÎɟ ȑÄÄÙɡ ÒÒxÈɡ Öʃ yεÕĦ ÎɟθÒÍ ßɮ]  

 2. yġ Ò H2O ßɮ ÍÎɟ ÀßØɡ  ÒÒxÈɡ Öʃ yεÕĦ ÎɟθÒÍ ßɮ]  
 3. }ċ Ã H2O ßɮ ÍÎɟ ȑÄÄÙɡ ÒÒxÈɡ Öʃ yεÕĦ ÎɟθÒÍ ßɮ]  
 4. }ċ Ã H2O ßɮ ÍÎɟ ÀßØɡ  ÒÒxÈɡ Öʃ  yεÕĦ ÎɟθÒÍ ßɮ] 

 

72. Circum-Pacific epithermal gold deposits are 

associated with I-type granitic magmas that 

contain 

 1. low H2O and are emplaced in shallow crust 

 2. low H2O and are emplaced in deep crust 

3. high H2O and are emplaced in shallow crust 

4. high H2O and are emplaced in deep crust 

73. }Þ şɨÌɠ Öʃ Åßɟɰ ÞÖɟ×ɨÅÑ ßɭÍȓ Ħ ÎɟÑ ¾ɥ ØÃÑɟ 
ÀȑÍ Þɭ yÛÞɟÏ zÒȕȑÍx ÀȑÍ yκÐ¾ ßɮ, ȑÑàɭÒ  

 1. ÍÙɨȒċÃÍ ßɨ Þ¾Íɭ ßɮ]  

 2. ÍÙɨȒċÃÍ ßɨ¾Ø, ÒĤ ÃɟÍn ÒȓØ9ŎÖζÌÍ ßɨ Þ¾Íɭ ßʅ]  

 3. ÍÙɨȒċÃÍ ßɨ¾Ø, ÒĤ ÃɟÍn ŢȑÍŎɟεÖÍ ßɨ Þ¾Íɭ ßʅ]  
 4. ÒȓØ9ŎÖζÌÍ  ßɨ¾Ø, ÒĤ ÃɟÍn ÍÙɨȒċÃÍ ßɨ Þ¾Íɭ ßʅ]  

 

73. In a basin where the rate of sediment supply is 

higher than the rate of creation of 

accommodation space, the deposits may 

 1. aggrade 

 2. aggrade and then prograde 

 3. aggrade and then regtrograde 

 4. prograde and then aggrade 

74. Òĕ ÍØ εÞεÙ¾ɭÈ ŝ×ĥ ÈÓÙ¾ɥ× ÖɟÑɭ ÅɟÍɭ ßʅ ×ȏÏ 
}ÑÖʃ  

 1. ÃȓÍĥ ÓÙ¾ɥ× Ħ ÎÙ ÒØ Al ßɮ]  
 2. ÃÍȓĥ ÓÙ¾ɥ× Ħ ÎÙ ÒØ Öɟŝ Si ßɮ]  
 3. ÃȓÍĥ ÓÙ¾ɥ× Ħ ÎÙ ÒØ ʬθÛÞɰ×ɨÅ¾ ¦×Ñ ßʅ]  

 4. yĥ ÈÓÙ¾ɥ× Ħ ÎÙ ÒØ ʬθÛÞɰ×ɨÅ¾ ¦×Ñ ßɮ]  
 

74. Sheet silicates are considered as trioctahedral 

if they have 

 1. Al in tetrahedral site 

 2. only Si in tetrahedral site 

 3. divalent ions in tetrahedral site 

 4. divalent ions in octahedral site  

 

75. ÖĘ ×Ö Þɭ Ùɭ¾Ø yȑÍ ÞȕĨ Ö ÔɟÙȕ ¾ɥ ÀȑÍÜɠÙÍɟ 
ʬÛɟØɟ ÃïÍɭ ~εÖxÍ ȑÍ×x¾n Ħ ÍØÌ ÔÑÍɭ ßʅ  

 1. ȑÑÃÙɭ Ûɟß ŢÛȗȒĕÍ ÍÎɟ yÛÞɟÏ θÛ ßɡÑ 
 ȒĦÎȑÍ×ʇ Öʃ  

 2. ~ÒØɡ Ûɟß ŢÛȗȒĕÍ ÍÎɟ yÛÞɟÏ zκÐĆ ×  
 ȒĦÎȑÍ×ʇ Öʃ 

 3. ȑÑÃÙɭ Ûɟß ŢÛȗȒĕÍ ÍÎɟ yÛÞɟÏ zκÐĆ ×  
 ȒĦÎȑÍ×ʇ Öʃ 

 4. ~ÒØɡ Ûɟß ŢÛȗȒĕÍ ÍÎɟ yÛÞɟÏ θÛßɡÑ  
 ȒĦÎȑÍ×ʇ Öʃ 

 

75. Climbing ripple cross laminations form by 

movement of medium to very fine sand in 

 1. lower flow regime and sediment starved 

 conditions 

 2. upper flow regime and sediment surplus 

 conditions 
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 3. lower flow regime and sediment surplus 

 conditions 

 4. upper flow regime and sediment starved 

 conditions  

 

76. ŐɮÑɟ|È  A Öʃ ŢÖȓ¿ ¿ȑÑÅʇ ¾ɭ ȼÒ Öʃ Ć ÛɟÈxé, K- 
ŢÃȓØ ÷ɭġ îĦ ÒɟØ, ÍÎɟ Na-ŢÃȓØ ÓɮÙîÒɟØ }ÒȒĦÎÍ ßʅ, 
ÏɨÑʇ Óɭġ îĦ ÒɟØ yÒθÛÙ×Ñ ÀÉÑ ÏÜɟxÍʃ ßʅ] ŐɮÑɟ|È 
B Öʃ Ć ÛɟÈxé ÍÎɟ Öɟŝ àɟØ Óɭġ îĦ ÒɟØ ŢÖȓ¿ 
yÛĦ Îɟ¨ɰ ¾ɭ ȼÒ Öʃ }ÒȒĦÎÍ ßʅ] {Þ ŢɭàÌ Þɭ Þßɡ 
ȑÑĥ ¾Ýx ×ß ȑÑ¾ɟÙɟ Åɟ Þ¾Íɟ ßɮ η¾  

 1. B ¾ɥ yÒɭàɟ A yġ ÒÍØ ÍɟÒ Öʃ Ħ ÓȏÈ¾ɥ¾ȗÍ 
 ßȓz ÍÎɟ ÜɠőÍ9 ÜɠȑÍÍ ßȓz]    

 2. B ¾ɥ yÒɭàɟ A yġ ÒÍØ ÍɟÒ Öʃ Ħ ÓȏÈ¾ɥ¾ȗÍ 
 ßȓz ÍÎɟ ÐɠØɭ-ÐɠØɭ ÜɠȑÍÍ ßȓz]  

 3. B ¾ɥ yÒɭàɟ A }ċ ÃÍØ ÍɟÒ Öʃ Ħ ÓȏÈ¾ɥ¾ȗÍ 
 ßȓz ÍÎɟ ÐɠØɭ-ÐɠØɭ ÜɠȑÍÍ ßȓz] 

 4. B ¾ɥ yÒɭàɟ A }ċ ÃÍØ ÍɟÒ Öʃ Ħ ÓȏÈ¾ɥ¾ȗÍ 
 ßȓz ÍÎɟ ÜɠőÍ9 ÜɠȑÍÍ ßȓz] 

 

76. Granite A has quartz, K-rich feldspar, and Na-

rich feldspar as major minerals, both feldspars 

exhibit exsolution textures. Granite B has 

quartz and only alkali feldspar as major 

phases. From this observation the correct 

inference is 

 1. A crystallized at lower temperature than  B 

 and cooled rapidly 

 2. A crystallized at lower temperature than  B 

 and cooled slowly 

 3. A crystallized at higher temperature 

 than B and cooled slowly 

 4. A crystallized at higher temperature 

 than B and cooled rapidly 

 

77. ¤¾ zşx ÅÙÛɟ×ȓ yÒà× ÒȎØċ ÄɭȏÏ¾ɟ Öʃ 
¦ ØnÎɨĆ Ùɭé ¾ɟ yÞÛɟʋÀ θÛÙɭ×Ñ {Þ¾ɥ ÞɰØÃÑɟ Öʃ 
ÒȎØÌεÖÍ ßɨÀɟ9  

 1. Ħ ÖɮĆ Èɟ|È + εÞεÙεÞ¾ yĞ Ù  
 2. ¾ɭ¨εÙÑɟ|È + εÞεÙεÞ¾ yĞ Ù 
 3. ¾ɭ¨εÙÑɟ|È + ßɟ{ŚɨĆ ÙɨȎØ¾ yĞ Ù  
 4. Ć ÙɨØɟ|È + εÞεÙεÞ¾ yĞ Ù 
 

77. Incongruent dissolution of orthoclase in a 

humid climate weathering profile will result in 
the formation of  

 

 

 

 1. smectite + silicic acid 

 2. kaolinite + silicic acid 

 3. kaolinite + hydrochloric acid 

 4. chlorite + silicic acid 

 

78. ×ß ȑÑÐɟxȎØÍ η¾×ɟ À×ɟ ßɮ η¾ ÒȗÎn Ûɠ ¾ɭ Ŏɨî ¾ɥ 
ØÃÑɟ, ÒȗĖ Ûɠ ¾ɭ }ǩÛ ¾ɭ ŢÎÖ 30 Ma ¾ɭ ÏɩØɟÑ 
ßȓz Îɟ] Ùɨßɟ }ġ ¾ɟθÒɰÊʇ ¾ɭ ØɭιÊ×ɨÐÖɶ 
¾ɟÙȑÑÐɟxØÌ ʬÛɟØɟ ×ß yÑȓÖɟȑÑÍ η¾×ɟ À×ɟ] 
{Þ Ę ×ɭ× ¾ɭ εÙ¤ ȑÑĞ Ñ Öʃ Þɭ η¾Þ θÛκÐ ¾ɨ 
¾ɟÖ Öʃ εÙ×ɟ À×ɟ ßɨÀɟ? 

 1. 
146

Sm ï 
142

Nd   ;   t1/2 = 68.0 × 10
6 
y

 

 2. 
238

U ï 
206

Pb      ;   t1/2 = 4.47 × 10
9 
y

 

 3. 
129

I ï 
129

Xe       ;   t1/2 = 16.0 × 10
6 
y 

 4. 
182

Hf ï 
182

W     ;   t1/2 = 6.0 × 10
6 
y  

 

78. The core of the Earth is determined to have 

formed during the first 30 Ma of its origin.  

This was estimated using radioactive dating of 

iron meteorites. Which of the methods would 

have been used for this purpose? 

 

 1. 
146

Sm ï 
142

Nd   ;   t1/2 = 68.0 × 10
6 
y

 

 2. 
238

U ï 
206

Pb      ;   t1/2 = 4.47 × 10
9 
y

 

 3. 
129

I ï 
129

Xe       ;   t1/2 = 16.0 × 10
6 
y 

 4.  
182

Hf ï 
182

W     ;   t1/2 = 6.0 × 10
6 
y 

 

79. Íɰŝ ŢÏɭÜʇ (Ħ ÍɰÕ 1) ÍÎɟ ÞɰÀÍ ÞɠÖɠ¾ȎØÍ 
ÞɰĦ ÍȎØ¾ɥ ÞÍßʇ  (Ħ ÍɰÕ 2) ¾ɨ ÞȓÖɭεÙÍ ¾Øʃ9  

Ħ ÍɰÕ-I Ħ ÍɰÕ-II 

(a) κÀØÍɭ ÃØÌ Íɰŝ 
ŢÏɭÜ ¾ɟ εÜ¿Ø  

(i) }ċ ÃÍÖ ÔɟïÑ 
ÞÍß  

(b) yȑÍŎɟÖɠ Íɰŝ 
ŢÏɭÜ  ¾ɟ εÜ¿Ø  

(ii)  ¿ʪÊÑ ÞÍß  

(c) yȑÍŎɟÖɠ Íɰŝ 
ŢÏɭÜ  ¾ɟ ÒʅÏɟ  

(iii)  ÕȕÒȗĥ Éɢ× 
θÛÝÖθÛę ×ɟÞ  

(d) }ċ Ã ¿î Íɰŝ 
ŢÏɭÜ ¾ɟ εÜ¿Ø  

(iv) ÞÖȓşɡ 
ÒĤ ÃÀÖÑ ¾ɥ 
zÐɟØɡ ÞÍß  

  
 1. (a) ï (ii), (b) ï (iv), (c) ï (i), (d) ï (iii)  

 2. (a) ï (iii), (b) ï (ii), (c) ï (i), (d) ï (iv) 

 3. (a) ï (iii), (b) ï (i), (c) ï (ii), (d) ï (iv) 

 4. (a) ï (i), (b) ï (ii), (c) ï (iv), (d) ï (iii)  
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79. Match óSystems Tractsô (Column 1) with their 

respective bounding stratigraphic surfaces 

(Column 2): 

 

 
 1. (a) ï (ii), (b) ï (iv), (c) ï (i), (d) ï (iii)  

 2. (a) ï (iii), (b) ï (ii), (c) ï (i), (d) ï (iv) 

 3. (a) ï (iii), (b) ï (i), (c) ï (ii), (d) ï (iv) 

 4. (a) ï (i), (b) ï (ii), (c) ï (iv), (d) ï (iii)  

  

80. 0.6 GPa ÏɟÔ ¾ɭ yÐɠÑ η¾×ɭ À×ɭ ¤¾ ȼÒɟɰ ÍȎØÍ 
ÜɮÙ ¾ɭ yĘ ××Ñ ÒØ ȑÑĞ Ñ yεÕηŎ×ɟ ¾ɨ 
yÑȓÖɟȑÑÍ η¾×ɟ À×ɟ9  

 

 
 

 {Þ yεÕηŎ×ɟ ȒÅÞ ÍɟÒ Öʃ ÁȏÈÍ ßȓ|, Ûß {Þ 
ÒØ ȑÑÕxØ ßɮ: 

1. ὢ    2. ὢ  

3. ὢ     4. ὢ  

 

80. The following reaction was inferred on study 

of metamorphic rock that was subjected to 0.6 

GPa pressure 

 

 
 

 

 The temperature at which this reaction took 

place depends on: 

1. ὢ    2. ὢ  

3. ὢ    4. ὢ  

 

81. ÖɨßØ zÛØÌ, ÞɰÒɠÊÑ ¾ɭ yÐɠÑ θÛÓÙÍɟ ¾ɭ 
εÙ¤, yÒȼÒÌ ŢȑÍÔÙ ¤Ûɰ ÞɟÖɟę × ŢȑÍÔÙ ¾ɭ 
ÔɠÃ ¤¾ Øɮζ¿¾ ÞɰÔɰÐ ÏɭÍɟ ßɮ] ÕɰÀȓØ θÛÓÙÍɟ ¾ɭ 
ŢɭØÌ Öʃ ÔïÍɭ şÛ ÏɟÔ ¾ɟ ŢÕɟÛ {Þ ¾ɟØÌ ßɮ9  

 1. yÒȼÒÌ ŢȑÍÔÙ ¾ɟ ¾Ö ßɨÑɟ  

 2. θÛÕɭÏɡ ŢȑÍÔÙ ¾ɟ ¾Ö ßɨÑɟ  

 3. θÛÕɭÏɡ ŢȑÍÔÙ ¾ɟ yκÐ¾ ßɨÑɟ 
 4. ŢÕɟÛɠ ŢȑÍÔÙ ¾ɟ ¾Ö ßɨÑɟ  

 

81. Mohr envelope gives a linear relationship 

between shear stress and normal stress for 

failure under compression. The effect of 

increasing fluid pressure in inducing brittle 

failure is due to 

 1. lowering of shear stress 

 2. lowering of differential stress 

 3. enhancing of differential stress 

 4. lowering of effective stress 

 

82. ÛÍxÖɟÑ Öʃ ȏßÖÑÏ ÒȗĖ Ûɠ ¾ɭ ÞÍßɡ ÅÙ ¾ɭ ÙÀÕÀ 
2% ÕɟÀ ÔÑÍɭ ßʅ ÍÎɟ }Ñ¾ɟ ‏ ὕ σπϸ   

ßɮ] ÜɭÝ ÞÕɠ ÅÙ ÖßɟÞÖȓşʇ Öʃ yɰÍθÛxȒĥÈÍ ßɮ]  
 ×ȏÏ ȏßÖÑÏɡ× şģ ×ÕɟØ 10% Í¾ ÔïÍɟ ßɮ, Íɨ 

ÖßɟÞÖȓşʇ ¾ɟ ÒȎØÛȑÍxÍ ÞÖĦ ÎɟȑÑ¾ ÔÑɟÛÈ Ć ×ɟ 
ßɨÀɟ '×ß ÖɟÑÍɭ ßȓ¤ η¾ ȏßÖ ¾ɟ  ‏ ὕ yÒȎØÛȑÍxÍ 
ØßÍɟ ßɮ(? 

 1. π ϸ     2. ςȢφχ ϸ  

 3. πȢφ ϸ    4. σ ϸ  

 

82. Glaciers presently constitute about 2% of the 

water at the surface of the Earth and have a 

‏ ὕ σπϸ . The oceans contain 

essentially all remaining water. If the mass of 

the glacial ice were to increase to 10%, what 

would be the changed isotopic composition of 

the oceans (assuming that the ‏ ὕ of ice 

remains constant)? 

 1. π ϸ    2. ςȢφχ ϸ  

 3. πȢφ ϸ   4. σ ϸ  

 

83. ÞÒɟÈ ÖɮÏɟÑ ÒØ ¤¾ ÛÙÑ ¾ɭ ¤¾ ȸĤ ×ɟɰÜ Öʃ, 
ÛȎØĥ ÉÍØ ÞɰĦ ÍØ }ĕ ÍØ ¾ɥ ÍØ÷ Òɟ×ɭ ÅɟÍɭ ßʅ] ×ß 
ÞɰØÃÑɟ ßɮ ¤¾  

 1. yεÕÑȑÍ Åɨ ÏνàÌ ¾ɥ ÍØ÷ yÛÑεÖÍ ßɮ]  

 2. yÒÑȑÍ Åɨ }ĕ ÍØ ¾ɥ ÍØ÷ yÛÑεÖÍ ßɮ] 

 3. yεÕÑȑÍ Åɨ }ĕ ÍØ ¾ɥ ÍØ÷ yÛÑεÖÍ ßɮ] 

 4. yÑÛÑÖȑÑÍ yεÕ ÑȑÍ]  

 

83. In an outcrop of a fold on flat ground, older 

strata are encountered towards North. The 

structure is a   

 1. syncline plunging towards South 

 2. anticline plunging towards North 

 3. syncline plunging toward North 

 4. non-plunging syncline 
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84. η¾Þɠ ÕȕÛɮáɟȑÑ¾ ¾ɟÙɟɰÍØ ¾ɭ ÞɟÐɟØÌ ÛÀɶ¾ØÌ 
ßɭÍȓ }Ò×ɨÀɠ ÅɠÛɟĤ Ö ÞÖȕßʇ ¾ɨ Ħ ÍɰÕ X ÞȕκÃÍ 
¾ØÍɟ ßɮ] ¾ɟÙ yɰÍØɟÙ Ħ ÍɰÕ Y Öʃ ȏÏ×ɭ À×ɭ ßʅ ] 

X Y 

(a) ŐɮĚ ÈɨÙɟ|ÈÞn   (p) ÖɮÞɨéɨ|¾  
(b) Ě ÙÛ¾ ÷ɨØɟεÖȑÑ÷ɭØɟ  (q) ÒɭεÙ×ɨÅɠÑ  
(c) Þɭ÷ɨÙɨÒɦî 

'yĞ ÖɨÑɟ|È(  
(r) ÒɭεÙ×ɭéɨ|¾  

(d) ÑȓĞ ÖȓÙɟ|ÈÞn   (s) ȑÑ×ɨÅɠÑ  
  

 ȑÑĞ Ñ Öʃ Þɭ ¾ɩÑ-Þɟ Þßɡ ÞȓÖɭÙÑ ÏÜɟxÍɟ ßɮ? 

 1. (a) ï (r),  (b)  -  (s),  (c)  -  (p),  (d)  - (q) 

 2. (a) ï (s),  (b)  -  (p),  (c)  -  (r),  (d)  - (q) 

 3. (a) ï (p),  (b)  -  (q),  (c)  -  (r),  (d)  - (s) 

 4. (a) ï (q),  (b)  -  (p),  (c)  -  (s),  (d)  - (r) 
 

84. Column X lists important fossil groups used in 

general to classify a particular geological time 

interval. The time intervals are given in 

column Y.  

 

X Y 

(a) Graptolites (p) Mesozoic 

(b) Planktonic 

foraminifera 

(q) Paleogene 

(c) Cephalopods 

(Ammonites) 

(r) Paleozoic 

(d) Nummulites (s) Neogene 

  

 Which one of these shows correct matches? 

 1. (a) ï (r),  (b)  -  (s),  (c)  -  (p),  (d)  - (q) 

 2. (a) ï (s),  (b)  -  (p),  (c)  -  (r),  (d)  - (q) 

 3. (a) ï (p),  (b)  -  (q),  (c)  -  (r),  (d)  - (s) 

 4. (a) ï (q),  (b)  -  (p),  (c)  -  (s),  (d)  - (r) 

 

85. ¤¾ ÀɟÑɴÈ-×ȓĆ Í ÃɟÑɼ¾ɟ|È Öʃ àɭȐŝÍ ȒÅØ¾ɦÑ 
ÍÎɟ ÖɟÑɨéɟ|È ¾Ì ßʅ] ȒÅØ¾ɦÑ ŎɨÊʇ Öʃ }ċ Ã  
Th/U ßɮ Å Ôη¾ η¾ÑɟØʇ Öʃ yġ Ò Th/U yÑȓÒɟÍ ßʅ] 
Þßɡ ȑÑĥ ¾Ýx ßɮ  

 1. ÖɟÑɨéɟ|È Ħ ÷ȏÈ¾ɥ¾ØÌ ¾ɭ ÒĤ ÃɟÍn  ȒÅØ¾ɦÑ 
 η¾ÑɟØʇ ¾ɥ ØÃÑɟ ßȓ|]  

 2. ÖɟÑɨéɟ|È Ħ ÷ȏÈ¾ɥ¾ØÌ ¾ɭ ÒĤ ÃɟÍn  ȒÅØ¾ɦÑ 
 Ŏɨîʇ ¾ɥ ØÃÑɟ ßȓ|]  

 3. ÀɟÑɴÈ Ħ ÷ȏÈ¾ɥ¾ØÌ ¾ɭ ÒȕÛx ÖɟÑɨéɟ|È 
 Ħ ÓȏÈ¾ɥ¾ØÌ ßȓz]  

 4. ÀɟÑɴÈ Ħ ÷ȏÈ¾ɥ¾ØÌ ¾ɭ ÒĤ ÃɟÍn  ȒmÅØ¾ɦÑ 
 η¾ÑɟØʇ ¾ɥ ØÃÑɟ ßȓ|]  

 

 

85. A garnet bearing charnockite has zoned zircon 

and monazite grains. Zircon cores have high 

Th/U while rims have low Th/U ratios. The 

correct inference is 

 1. zircon rims formed after monazite 

 crystallization 

 2. zircon core formed after monazite 

 crystallization 

 3. monazite crystallization preceded garnet 

 crystallization 

 4. zircon rim formed after crystallization of 

 garnet  

  

86. ÖɟÑʃ η¾ Cu ¾ɭ y×Ħ ¾ ¾ɟ 20% şģ ×ÕɟØ 
Ãɟġ ¾ɨÒɟ|Øɟ|È ßɮ] ×ȏÏ ¾Ö Þɭ ¾Ö 1000 ÈÑ Cu 

¾ɨ ȑÑ¾ɟÙÑɟ ßɮ (yÌȓ ÕɟØ : Cu = 63.55, Fe = 

55.85, S = 32.06) y×Ħ ¾ ¾ɟ Ć ×ɟ ę ×ȕÑÍÖ Èę ÑɭÅ  
ßɨÑɟ Ãɟȏß¤?  

 1. 2724    2. 3301 

 3. 11917   4. 14439  
 

86. Suppose an ore of Cu contains 20% 

chalcopyrite by mass. What is the minimum 

tonnage of the ore desirable if at least 1000 

tons of Cu needs to be extracted? (Atomic 

mass: Cu = 63.55, Fe = 55.85, S = 32.06) 

 1. 2724   2. 3301 

 3.  11917   4. 14439 

 

 

87. Ïɨ ¾ÎÑ ȑÑĞ ÑÛÍ ßʅ, ¤¾ ¾ɟ ÙɭÔÙ (A) ßɮ Åɨ 
ÏɟÛɟ ßɮ ÍÎɟ ÏȕÞØɭ ¾ɟ ÙɭÔÙ (R) ßɮ Åɨ ¾ɟØÌ ßɮ]   

 ÏɟÛɟ (A): ÖɨÈɭ ÍɩØ ÒØ ÕȕÞÍß }ċ ÃɟÛÃ ×ȓĆ Í 
{ÞεÙ×ɭ ßɮ η¾ θÛεÕ ę Ñ Õȓz¾ȗȑÍ ŢηŎ×ɟ×ʃ yÙÀ-
yÙÀ ÀȑÍ×ʇ Öʃ ¾ɟ×xÜɠÙ ßʅ]  

 ¾ɟØÌ (R): ÕȕÒÒxÈɡ ¾ɭ ÜɮÙ yÒÑɠ ÞɰØÃÑɟ ¤Ûɰ 
zȒĤÖÍɟ Öʃ εÕę ÑÍɟ ÏÜɟʋÍɭ ßʅ, ÍÎɟ {Þ ¾ɟØÌ 
ÍÙ ÞɰÍȓÙÑ ŢηŎ×ɟ ¾ɭ θÛȼǦ θÛεÕę Ñ Öɟŝɟ¨ɰ Öʃ 
ŢȑÍØɨÐ ÏÜɟxÍɭ ßʅ] 

 }ÒØɨĆ Í Ïɨ ¾ÎÑʇ ¾ɭ ÞɰÏÕx Öʃ ȑÑĞ Ñ Öʃ Þɭ ¾ɩÑ-
Þɟ ¾ÎÑ Þßɡ ßɮ? 

 1. A ÍÎɟ R ÏɨÑʇ Þßɡɰ ßʅ, ÍÎɟ A ¾ɥ Þßɡ 
 ģ ×ɟć ×ɟ  R ÏɭÍɟ ßɮ]  

 2. A ÍÎɟ R ÏɨÑʇ Þßɡɰ ßʅ, ÍÎɟ A ¾ɥ Þßɡ 
 ģ ×ɟć ×ɟ  R Ñßɡɰ ßɮ] 

 3. A Þßɡ ßɮ, ÒØɰÍȓ R ÀÙÍ ßɮ]  

 4. A ÀÙÍ ßɮ, ÒØɰÍȓ R Þßɡ ßɮ]   
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87. Given below are two statements, one labelled 

as Assertion (A) and other labelled as Reason 

(R). 

 Assertion (A): To a large degree the Earthôs 

surface possesses relief because the geomor-

phic processes operate at differential rates. 

 Reason (R): The rocks of the Earthôs crust 

vary in their lithology and structure and hence 

offer varying degrees of resistance to the 

gradational process. 

 In the context of the above two statements 

which one of the following is correct? 

 1. Both A and R are true, and R is correct 

 explanation of A 

 2. Both A and R are true, and R is not correct 

 explanation of A 

 3. A is true but R is false 

 4. A is false but R is true  

 

88. ¤¾ÞÖɟÑ ÍɠūÍɟ 16 mm/hr ¾ɭ ÞɟÎ 5-ÁɰÈʇ ¾ɭ ¤¾ 
Íȕ÷ɟÑ ¾ɭ ÏɩØɟÑ ¾ȓÙ ŢɭνàÍ Ûɟß z×ÍÑ  20 Mm

3  
ßɮ] ×ȏÏ şɨÌɠ ¾ɟ àɭŝÓÙ 400 km

2 ßɮ, Íɨ 
yɰÍ9Ħ ×ɰÏÑ (mm) ßɮ  

 1. 15     2. 20 

 3. 25     4. 30  

 

88. The total observed runoff volume during a 

storm of 5-hr duration with a uniform intensity 

of 16 mm/hr is 20 Mm
3
. If the area of the 

basin is 400 km
2
, then the infiltration (mm) is 

 1. 15     2. 20 

 3. 25     4. 30  

 

89. ¤¾ ÖßɟʬÛɠÒɠ× }ĥ Ì¾ȏÈÔǦ Ûɟ×ȓÒȓɰÅ ¾ɭ ÙɟàζÌ¾ 
ÀȓÌÐÖx ßʅ: 

 1. ÜɠÍ, Üȓĥ ¾, Ħ Îɟ×ɠ  
 2. ~ȒĥÖÍ, Üȓĥ ¾, yĦ Îɟ×ɠ  
 3. ~ȒĥÖÍ, zşx, yĦ Îɟ|  
 4. Éɰîɟ, zşx, yĦ Îɟ|  

89. The characteristic properties of a continental 

tropical airmass are: 

 1. cold, dry, stable 

 2. hot, dry, unstable 

 3. warm, moist, unstable 

 4. cool, moist, unstable 

90. A, B, C ÍÎɟ D yÙÀ-yÙÀ  Íȓ̈ɰ Öʃ ÜɠÍɨĥ Ì 
ÆɠÙʇ ¾ɥ θÛεÕÑÑ ȒĦÎȑÍ×ɟɰ ßʅ] ȏÏ×ɭ À×ɭ ÞÖȓċ Ã×ʇ 
Öʃ Þɭ ¾ɩÑ-Þɟ Þßɡ ×ȓÀÙ ßɮ? 

  

1. A ï ÜØÏ, B ï ÜɠÍ, C ï ÔÞɰÍ, D ï Őɠĥ Ö 

2. A ï Őɠĥ Ö, B ï ÜØÏ, C ï ÜɠÍ, D - ÔÞɰÍ 

3. A ï ÜɠÍ, B ï ÔÞɰÍ, C ï Őɠĥ Ö, D - ÜØÏ 
4. A ï ÔÞɰÍ, B ï Őɠĥ Ö, C ï ÜØÏ, D - ÜɠÍ  

 

90. A, B, C and D are different states of temperate 

lakes in different seasons.  Which one of given 

sets makes correct pairs? 

  

1. A ï Autumn, B ï Winter, C ï Spring,  

 D ïSummer 

2. A ï Summer, B ï Autumn, C ï Winter,   

 D ï Spring 

3. A ï Winter, B ïSpring, C ï Summer,  

 D ï Autumn 

4. A ï Spring, B ï Summer, C ï Autumn,   

 D ï Winter  
 

91. A, B ÍÎɟ C Öʃ θÛÙɡÑ ÉɨÞ ÕɟØ ÁÈ¾ʇ ¾ɥ ÞɟÒɭà 
ŢÃȓØÍɟ×ʃ ȑÑĞ Ñ κÃŝ Öʃ ȏÏ×ɭ À×ɭ ßʅ] }Ñ¾ɭ yÒÑɭ 
ØÞɟ×Ñ ʬÛɟØɟ  A, B ÍÎɟ C ¾ɨ ÒßÃɟÑʃ]  
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 1. A ï ÛÝɟx ÅÙ, B ï ÑÏɡ ÅÙ, C ï ÞÖȓşÅÙ  
 2. A ï ÑÏɡ ÅÙ, B ï ÛÝɟx ÅÙ, C ï ÞÖȓşÅÙ 

 3. A ï ÞÖȓşÅÙ, B ï ÛÝɟx ÅÙ, C ï ÑÏɡ ÅÙ  

 4. A ï ÛÝɟx ÅÙ, B ï ÞÖȓşÅÙ, C ï ÑÏɡ ÅÙ 
  
 91. The relative abundance of dissolved solid load 

components in A, B and C are given in figures 

below. Identify A, B and C from their 

chemistry. 

 

 
 

 1. A ï rainwater, B ï river water, C ï seawater 

 2. A ï river water, B ï rainwater, C ï sea water 

 3. A ï seawater, B ï rainwater, C ï river water 

 4. A ï rainwater, B ï seawater, C ï river water  

92. η¾Þɠ ÍÈØɭ¿ɟ ¾ɭ ÞÖɟɰÍØ yĕ ×ɰÍ zÖ Ţ¾ɟØ ¾ɭ 
ÔɟÙȕ ȏÈĜ Ôɭ ßɨÍɭ ßʅ9  

 1. ÒØÛÙȑ×¾ ÍÎɟ ÃɟÒɟ¾ɟØ ȏÈĜ Ôɭ  
 2. ÒØÛÙȑ×¾ ÍÎɟ yÑȓŢĦ Î ȏÈĜ Ôɭ 

 3. yÑȓŢĦ Î ÍÎɟ ÍɟØɟ ȏÈĜ Ôɭ  
 4. ÍɟØɟ ÍÎɟ yÑȓÏɮĘ ×x ȏÈĜ Ôɭ   
 

92. Along a coastline the most common types of 

sand dunes are 

 1. parabolic and barchan  

 2. parabolic and transverse 

 3. transverse and star 

 4. star and longitudinal 

 

93. ×ȏÏ ŢɟØɰεÕ¾ }ÄɟÙ ¾ɭ ÔɟÏ ÞÖȓşĦ ÍØ Öʃ κÀØɟÛÈ 
ßɮ, Íɨ ȑÑĞ Ñ ßɨÀɟ ȑÑàɭÒ ŎÖ9  
1. ÍÙɨċ ÃÑɠ­ ŢȑÍŎɟÖɠ ­ÍÙɨċ ÃÑɠ ­ÒȓØ9ŎÖÌɠ 
2. ŢȑÍŎɟÖɠ ­ ÍÙɨċ ÃÑɠ ­ ÒȓØ9ŎÖÌɠ 
3. ÒȓØ9ŎÖÌɠ ­ ŢȑÍŎɟÖɠ  

4. ÍÙɨċ ÃÑɠ ­  ÒȓØ9ŎÖÌɠ ­ ÍÙɨċ ÃÑɠ   

 

 

93. If there is a fall of sea level after an initial rise 

then the following would be the resulting 

depositional sequence 

1. aggradational ­ retrogradational ­ 

 aggradational ­ progradational 

2. retrogradational ­ aggradational ­ 

 progradational 

3. progradational ­ retrogradational  

4. aggradational ­  progradational ­ 

 aggradational    

 

94. ÞȓÖɭεÙÍ ¾Øʃ: 

 

A ÍÈÛɭÏɡ  E }ċ ÃÍØ ÞÖȓş Ħ ÍØ  
B ÞÖȓşɡ ÛɭȏÏ¾ɟ  F ÅÙ-Ħ ÍØ yÒà×  

C }ȒĕÎÍ ÖɮÏɟÑ  G Þɰ×ɨÅɠ εÕȒĕÍ  

   H ÒȓØ9ŎÖÌ  
 

  

 1. A ï G,  B ï  E, C ï G    

 2. A ï H,  B ï  E, C ï G 

 3. A ï G,  B ï  F, C ï F 

 4. A ï F,  B ï  E, C ï H 

 

94. Match the following: 

  

A Shore platforms E Higher sea level 

B Marine terrace F Water-level 

weathering 

C Strand Plain G Tombolo 

   H Progradation 
 

 1. A ï G,  B ï  E, C ï G    

 2. A ï H,  B ï  E, C ï G 

 3. A ï G,  B ï  F, C ï F 

 4. A ï F,  B ï  E, C ï H 

 

 

95. ÒȗĖ Ûɠ ¾ɥ ¾àɟ ¾ɥ ÏɡÁxÛȗĕ ÍÍɟ ¾ɭ ¾ɟØÌ ÒȗĖ Ûɠ ÒØ 
zÒȑÍÍ ÞɩØ θÛη¾ØÌ  

 1. ÏɨÑʇ ÀɨÙɟÐʝ Öʃ ÅȕÑ ¾ɥ yÒɭàɟ ȏÏÞĞ ÔØ Öʃ 
 7% ¾Ö ßɮ]  

 2. ÏɨÑʇ ÀɨÙɟÐʝ Öʃ ÅȕÑ ¾ɥ yÒɭàɟ ȏÏÞĞ ÔØ Öʃ 
 7% yκÐ¾ ßɮ] 

 3. ÀɨÙɟÐx '}ĕ ÍØɡ ×ɟ ÏνàÌɠ( ÒØ ȑÑÕxØ 7% 

 yκÐ¾ ×ɟ ¾Ö ßɮ] 

 4. ÏɨÑʇ ÀɨÙɟÐʝ Öʃ ÅȕÑ ¾ɥ yÒɭàɟ ȏÏÞĞ ÔØ Öʃ 
 1% yκÐ¾ ßɮ]  

 

 

 



23 
 

95. Because of the ellipticity of the Earthôs orbit, 

solar radiation incident on the Earth is 

 1. 7% less in December relative to June in 

 both hemispheres 

 2. 7% more in December relative to June in 

 both hemispheres 

 3. 7% more or less depending on the 

 hemisphere (north or south) 

 4. 1% more in December relative to June in 

 both hemispheres 

 

96. ÞȓÖɭεÙÍ ¾Øʃ9  
  

A ÍØɰÀ-ŢÐɟÑ Êɭġ Èɟ  D Ñɟ|Ù  
B ÑÏɡ-ŢÐɟÑ Êɭġ Èɟ  E ÀɰÀɟ-ŤħÖÒȓŝ  
C č ÛɟØ-ŢÐɟÑ Êɭġ Èɟ  F εÖȒĦÞεÞĚ Òɠ  
  G ÑɮÅØ  

 

 1. A = G, B = D, C = E   

 2. A = D, B = E, C = G 

 3. A = D, B = F, C = E 

 4. A = E, B = D, C = F 

 

96. Match the following 

  

A Wave-

dominated delta 

D Nile 

B River-dominated 

delta 

E Ganga-

Brahmaputra 

C Tide-dominated 

delta 

F Mississippi 

  G Niger 

 

 1. A = G, B = D, C = E   

 2. A = D, B = E, C = G 

 3. A = D, B = F, C = E 

 4. A = E, B = D, C = F 

 

97. ÖßɟÏɭÜ-ØÃÑɠ ÀȑÍÜɠÙÍɟ ¾ɭ ÔɟØɭ Öʃ η¾×ɭ À×ɭ 
ȑÑĞ Ñ ¾ÎÑʇ Öʃ Þɭ ¾ɩÑ-Þɭ Þßɡ ßʅ? 

 (a) ÔßȓÍ ¾Ö θÛȼÒÌ ÞȒĞÖεÙÍ ßɮ]  

 (b) ÒÛxÍÑɠ ÀȑÍÜɠÙÍɟ ¾ɥ yÒɭàɟ Ûɭ ¾ßɡɰ yκÐ¾ 
 Ħ ÎɟÑɠ¾ȗÍ ßʅ]  

 (c) Ûɭ Ħ ÒÜxØɭ¿ɠ× ÔÙ ¾ɭ ÒȎØÌɟÖ Ħ ÛȼÒ ßɨÍɭ ßʅ]  

 (d) Ûɭ àɭŝɠ× }ĕ ÎɟÑ ¾ɨ ÞȒĞÖεÙÍ ¾ØÍɭ ßʅ]  

 1. (a) ÍÎɟ (b)  2. (b) ÍÎɟ (c)  
 3. (b) ÍÎɟ (d)  4. (a) ÍÎɟ (d) 

 

 

 

 

97. Which of the following statements are correct 

about epeirogenic movements? 

 (a) There is very little deformation involved 

 (b) They are more localized than orogenic 

 movements 

 (c) They result due to tangential forces 

 (d) They involve regional uplift 

 1. (a) and (b)  2. (b) and (c)  
 3. (b) and (d)  4. (a) and (d) 

 

98. ÑÏɡ z¾ɟȎØ¾ɥ ¾ɭ yÑȓŢÛɟß ÒȎØÛÍxÑ ¾ɭ ÔɟØɭ Öʃ 
η¾×ɭ À×ɭ ȑÑĞ Ñ ¾ÎÑʇ Öʃ Þɭ ¾ɩÑ-Þɟ Þßɡ Ñßɡɰ ßɮ? 

 1. yÑȓÏɮĘ ×x ÑÏɡ ŢÛÌÍɟ ÍÎɟ ŢÌɟÙ Ãɩîɟ| ¾ɭ 
 ÔɠÃ ¤¾ }ĕ ŎÖ ÞɰÔɰÐ ßɮ]  

 2. yÑȓÏɮĘ ×x ÑÏɡ ŢÛÌÍɟ ÍÎɟ ©ÞÍ ÍÙÕɟØ 
 zÖɟÒ ¾ɭ ÔɠÃ ¤¾ }ĕ ŎÖ ÞɰÔɰÐ ßɮ] 

 3. yÑȓÏɮĘ ×x ÑÏɡ ŢÛÌÍɟ ÍÎɟ ©ÞÍ zŮɟÛ ¾ɭ 
 ÔɠÃ ¤¾ }ĕ ŎÖ ÞɰÔɰÐ ßɮ] 

 4. yÑȓÏɮĘ ×x ÑÏɡ ŢÛÌÍɟ ÍÎɟ ŢÌɟÙ yÑȓŢĦ Î 
 ¾ɟÈ àɭŝÓÙ ¾ɭ ÔɠÃ ¤¾ }ĕ ŎÖ ÞɰÔɰÐ ßɮ]  

 

98. Which one of the following statements about 

downstream change in river morphology is 

incorrect? 

 1. There is an inverse relationship between 

 longitudinal river slope and channel 

 width 

 2. There is an inverse relationship between 

 longitudinal river slope and mean bedload 

 size 

 3. There is an inverse relationship between 

 longitudinal river slope and average 

 discharge 

 4. There is an inverse relationship between 

 longitudinal river slope and channel 

 cross-section area 

 

99. Ûɟ×ȓÖɰÊÙɡ× }Ő ÁÈÑɟ¨ɰ A, B, C ÍÎɟ D ¾ɨ 
ÒßÃɟÑʃ9  
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 1. A = z¾ȒĦÖ¾ Ôɟï,  B = ÜɠÍ ÙßØ,   C = ~ĥ Öɟ 
 ÙßØ,  D = Þȕ¿ɭ  

 2. A = ÍιÊÍ-ÆɰÆɭ,  B = ~ĥ Öɟ ÙßØ,   C = ÈɨÑɟxÊɨ,  
 D = ~ĥ Öɟ ÙßØ  

 3. A = ~ĥ Öɟ ÙßØ,  B = z¾ȒĦÖ¾ Ôɟï,  C = Þȕ¿ɭ,  
 D = ÑÏɡ× Ôɟï  

 4. A = ¨Ùɭ ÆɰÆɭ,  B = ȒĜÙč mÅɟÊx,  C = }ĥ Ì¾ȏÈÔǦ 
 ÃŎÛɟÍ,  D = ÑÏɡ× Ôɟï  

 

99. Identify the atmospheric extreme events A, B, 

C and D 

 

 
 

 1. A = Flash floods,  B = Cold waves,  

  C =  Heat waves,  D = Droughts 

 2. A = Thunder storms,  B = Heat waves,    

  C = Tornadoes, D = Heat waves    

 3. A = Heat waves,  B = Flash floods,    

  C = Droughts, D = Riverine floods   

 4. A = Hail storms,  B = Blizzards,    

  C = Tropical Cyclones,  D = Riverine 

 floods 

 

100. ÅÙÛɟ×ȓ ¾ɭ ¾ɨĚ ÒɭÑ ÛÀɶ¾ØÌ ¾ɭ yÑȓÞɟØ ȑÑĞ Ñ 
ÅÙÛɟ×ȓ Ţ¾ɟØʇ Öʃ Þɭ ¤¾ ¦Ħ ŘɭεÙ×ɟ Öʃ 
yÑȓÒȒĦÎÍ ßɮ, ÒØ ÏνàÌ yÖɭȎØ¾ɟ Öʃ }ÒȒĦÎÍ ßɮ  

 1. Am   2. Af  

 3. Aw   4. Bw 

 

100. As per Kºppenôs classification of climate one 

of the following climate types is absent in 

Australia, but is present in South America 

 1. Am   2. Af 

 3. Aw   4. Bw 

 

101. ¤¾ yÒÛɟß şɨÌɠ Öʃ ȒĦÎÍ ÍɠÑ ÑÏɡ ÖɟÒÑ 
Ħ ÈɭÜÑʇ ¾ɨ κÃŝ 1 ÏÜxÍɟ ßɮ ÍÎɟ κÃŝ 2 {Ñ 
Ħ ÈɭÜÑʇ ¾ɭ Ôɟï ÅÙØɭ¿ɟκÃŝʇ ¾ɨ ÏÜɟxÍɟ ßɮ] ÖɟÒÑ 
Ħ ÈɭÜÑʇ ¾ɨ Ôɟï ÅÙØɭ¿ɟκÃŝʇ ¾ɭ ÞɟÎ ÞȓÖɭεÙÍ 
¾Øʃ9  

 

    
   

    
 

 1. A = D, B = F, C = E 

 2. A = D, B = E, C = F 

 3. A = F, B = E, C = D 

 4. A = E, B = F, C = D  

 

101. Figure 1 gives the location of three river 

gauging stations in a drainage basin and 

Figure 2 gives the flood hydrographs for the 

gauging stations. Match the gauging station 

and the flood hydrograph. 

       

  
 

 1. A = D, B = F, C = E 

 2. A = D, B = E, C = F 

 3. A = F, B = E, C = D 

 4. A = E, B = F, C = D  

  

102. ÅÙɨï Òɰ¿ɟ¨ɰ ¾ɭ ÞɰÀÍ Ïɨ yȑÍ ÞɟÖɟę × ŢηŎ×ɟ×ʃ ßʅ9  
 1. ÀȓɰÓÑ ¤Ûɰ θÛÞÒx ÄɟÊÑ  

 2. θÛÞÒx ÄɟÊÑ ¤Ûɰ ¾ÈɟÛ  

 3. Õȕ-yÒÏɟØÌ ¤Ûɰ θÛÞÒx  

 4. Õȕ-yÒÏɟØÌ ¤Ûɰ ÀȓɰÓÑ   



25 
 

102. The two most common processes associated 

with alluvial fans are 

 1. braiding and meander cut-off 

 2. meander cut-off and incision 

 3. avulsion and meandering 

 4. avulsion and braiding  

103. ¤¾ àɮȑÍÅ yÒÛÍx¾ ¾ɭ ~ÒØ η¾×ɭ À×ɭ yÒÛÍxÑ 
ÞÛɴàÌ ¾ɭ ÏɩØɟÑ ÍɠÑ ÞɰÞȕÃ¾ʇ ¾ɥ ÏȕȎØ×ɟɰ ÍÎɟ 
}Ñ¾ɭ yÒÛÍxÑ ÞÖ× ¾ɟÙʇ ¾ɨ ȑÑĞ Ñ ÍɟεÙ¾ɟ 
ÏÜɟxÍɠ ßɮ  

  

ÏȕØɡ 'Öɠ-(  600 1200 1800 

ÞÖ× 'εÖ-Þɮ-(  250 467 617 

  

 yÒÛÍx¾ ¾ɥ ÀßØɟ| Ć ×ɟ ßɮ? 

 1. 600 Öɠ-   2. 450 Öɠ-  

 3. 375 Öɠ-    4. 250 Öɠ- 
 

103. The following table shows the distances of 

three detectors and the respective refraction 

travel times during a refraction survey over a 

horizontal refractor  

  

Distance (m) 600 1200 1800 

Time (milli second) 250 467 617 

  

 What is the depth of the refractor? 

 1. 600m   2. 450m  

 3. 375m    4. 250m 

 

104. ×ȏÏ Õȕ¾ɰÒɠ ÀȑÍ }ÒØɡ ÖɟĘ ×Ö Öʃ V1 ßɮ ÍÎɟ 
ȑÑÃÙɭ ÖɟĘ ×Ö Öʃ V2 ßɮ (V2>V1)  Íɨ 

 ¾ÎÑ I: ÀȑÍ V2 ¾ɭ ¾Ö ßɨÑɭ ¾ɭ ÞɟÎ-ÞɟÎ ŎɟɰȑÍ¾ 
¾ɨÌ ¾Ö ßɨÍɟ ßɮ]   

 ¾ÎÑ II: ŎɟɰȑÍ¾ ÏȕØɡ, ÒɟØÀÖÑ ÏȕØɡ Þɭ Øɮζ¿¾ 
ÞɰÔɰÐ Öʃ ßɮ]  

 1. ¾ÎÑ I Þßɡ ßɮ; II ÀÙÍ ßɮ]  

 2. ¾ÎÑ I ÀÙÍ ßɮ; ÒØɰÍȓ II Þßɡ ßɮ]  

 3. ÏɨÑʇ ¾ÎÑ ÀÙÍ ßʅ]  

 4. ÏɨÑʇ ¾ÎÑ Þßɡ ßʅ]  

 

104. If the seismic velocity in the overlying 

medium is V1 and that in the underlying 

medium is V2 (V2>V1), then  

 Statement I: The critical angle decreases with 

decrease in velocity V2 

 Statement II: The critical distance is linearly 

related to the crossover distance    

 

 1. Statement I is true; II is false    

 2. Statement I is false; but II is true   

 3. Both statements are false   

 4. Both statements are true
 

 

105. ¾ÎÑ I: ÃȓɰÔ¾ɥ× yàɟɰÜ q ÒØ ÒȗĖ Ûɠ ¾ɭ ÃȓɰÔ¾ɥ× 
àɭŝ ¾ɭ ~Ę ÛɟxÐØ ÍÎɟ àɮȑÍÅ ÁÈ¾ʇ Vq ÍÎɟ Hq ¾ɟ 
ÕȕÖĘ ×Øɭ¿ɟ ÒØ ¾ȓÙ ÃȓɰÔ¾ɥ× àɭŝ F0 ¾ɭ ÞɟÎ ¾ɟ 
ÞɰÔɰÐ ὠ τὌ τὊ ßɮ]  

 ¾ÎÑ II: ÒȗĖ Ûɠ ¾ɥ ÞÍß ÒØ ¾ßɡɰ Õɠ, ÒȗĖ Ûɠ ¾ɭ 
ÃȓɰÔ¾ɥ× àɭŝ ¾ɭ ~Ę ÛɟxÐØ ¤Ûɰ àɮȑÍÅ ÁÈ¾ ŎÖÜ9 
0.4 ÍÎɟ 0.1Àɟ~Þ Ñßɡɰ ßɨ Þ¾Íɭ]             

 1. ¾ÎÑ  I ÍÎɟ II Þßɡ ßʅ; II ¾ɥ ģ ×ɟć ×ɟ I ¾ØÍɟ ßɮ] 

 2. ¾ÎÑ  I ÍÎɟ II Þßɡ ßʅ; II ¾ɥ ģ ×ɟć ×ɟ I Ñßɡɰ 
 ¾Ø Þ¾Íɟ] 

 3. ¾ÎÑ I Þßɡ ßɮ; ÒØɰÍȓ II ÀÙÍ ßɮ] 
 4. ¾ÎÑ I ÀÙÍ ßɮ; ÒØɰÍȓ II Þßɡ ßɮ] 

 

105. Statement I: The vertical and horizontal 

components Vq and Hq of the Earthôs magnetic         

field at a magnetic latitude q are connected to 

the total magnetic field F0 at the equator by the 

relation ὠ τὌ τὊ . 

 Statement II: At no point on the Earthôs 

surface, the vertical and horizontal components 

of the Earthôs magnetic field can be 0.4 gauss 

and 0.1 gauss respectively.  

 1. Statements I and II are true; I explains II  

 2. Statements I and II are true; but I cannot 

 explain II    

 3. Statement I is true; but II is false   

 4. Statement I is false, but II is true   

 

106. Øɮζ¿¾ ÞÖɠ¾ØÌʇ ¾ɭ ȑÑĞ Ñ ÞÖȓċ Ã× ¾ɟ {ĥ ÈÍÖ 
ßÙ Ć ×ɟ ßɮ?  

 ςὼ σώ ψ 
 σὼ ςώ ω 
 ςὼ φώ π  
  

 1. ȟ      2. ȟ      

 3. ȟ      4. ȟ    

 

106. What is the optimum solution of the following 

set of linear equations?  

 ςὼ σώ ψ 
 σὼ ςώ ω 
 ςὼ φώ π  

  1. ȟ      2. ȟ      

 3. ȟ      4. ȟ    
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107. Ãɩîɟ|  4.0 km ¾ɭ ʬθÛθÛÖ àɮȑÍÅ Ě ÙɮÈ ¾ɭ ȼÒ ¾ɟ 
¤¾ Àɟîɟ ßȓz yÞɰÀÍ θÒɰÊ ÒȗĖ Ûɠ ¾ɥ ÞÍß ÒØ 
yÒÑɭ ¾ʃş ÍÎɟ η¾ÑɟØʇ Öʃ ŎÖÜ9 0.6 mgal ÍÎɟ 
0.48 mgal  Àȓȼĕ Û yÞɰÀȑÍ×ɟɰ ÏɭÍɟ ßɮ] }Þɠ ÖɨÈɟ|, 
ÁÑĕ Û θÛÝÖÍɟ ¤Ûɰ ÀßØɟ| ¾ɭ εÙ¤ 8.0 km Ãɩîɭ 
¤¾ Ě ÙɮÈ Þɭ }ĕ ÒɟȏÏÍ }ċ ÃÍÖ Àȓȼĕ Û yÞɰÀȑÍ 
ßɨÀɠ 

   
 1. 1.20  mgal   2.  1.08  mgal  

 3. 0.96  mgal  4.  0.72  mgal  

 

107. A buried anomalous body in the form of a 

two-dimensional horizontal plate of width 4.0 

km provides, on the Earthôs surface, gravity 

anomalies of 0.6 mgal and 0.48 mgal, 

respectively, on its centre and edge. The 

maximum gravity anomaly produced by a 

plate of width 8.0 km of the same thickness, 

density contrast and depth would be  

 

 
  

 1. 1.20  mgal   2.  1.08  mgal  

 3. 0.96  mgal  4.  0.72  mgal  

 

108. ȑÑĞ Ñ Öʃ Þɭ ¾ɩÑ-Þɟ, η¾Þɠ ÓÙÑ Ὢὼ  ¾ɟ 
ÓȕȎØ×ɭ ȼÒɟɰÍØÌ Ñßɡɰ ßɨ Þ¾Íɟ?  

 1. 0     2. Ὥ 
 3. ὼ .4    ‫ 
 

108. Which one of the following cannot be the 

Fourier transform of any function Ὢὼ?    

 1. 0     2. Ὥ 
 3. ὼ .4    ‫ 
 

109. ÁÑĕ Û 3.0 g/cc ÛɟÙɭ ¤¾ ÀɨÙ y×Ħ ¾ θÒɰÊ, Åɨ 
ÁÑĕ Û 2.7 g/cc ¾ɭ yÛÞɟÏʇ Þɭ ȑÁØɟ ßȓz ßɮ, ¾ɭ 
zØ-ÒɟØ ¾ɥ Àȓȼĕ Û ÒȎØċ ÄɭȏÏ¾ɟ yÒÑɠ }ċ ÃÍÖ 
yÞɰÀȑÍ ÖɟÑ 0.1 mgal ¾ɭ zÐɭ ÖɟÑ ¾ɨ 154 m  
ÏȕØɡ Þɭ yÙκÀÍ ȐÔÏȓɰ̈ɰ ÒØ yɰη¾Í ¾ØÍɠ ßɮ] 
y×Ħ ¾ θÒɰÊ ¾ɟ şģ ×ÕɟØ (10

12
 ÈÑʇ Öʃ) ßɮ   

 

 1. 0.3      2. 3.0    

 3. 6.0     4. 60.0  

 

109. A gravity profile across a spherical ore body of 

density 3.0 g/cc surrounded by sediments of 

density 2.7 g/cc recorded its half the maximum 

anomaly value of 0.1 mgal at points separated 

by 154 m. The mass of the ore body (in 10
12

 

tons) is  

 1. 0.3      2. 3.0    

 3. 6.0     4. 60.0  

 

110. ¤¾ ÜɮÙ {¾ɟ| yÒÑɠ ÞɰØÃÑɟ Þɭ Ùɭ¾Ø η¾Þɠ ÁȕÌxÑ 
¾ɟ yÑȓÕÛ Ñßɡɰ ¾ØÍɭ ßȓ¤ }ĕ ÍØ ¾ɥ ÍØ÷ yÒÞȎØÍ 
ßɨÍɠ ßɮ] ×ȏÏ Ûß ÏνàÌ ÀɨÙɟÐx Öʃ 45̄  ÒØ ¤¾ 
ÃȓɰÔ¾ɥ× }ĕ ŎÖÌ ¾ɭ ÏɩØɟÑ ÃȓɰÔη¾Í ßȓz Íɨ }Þ¾ɭ 
Þɟ-y-Ãȓ- ¾ɥ ÑȑÍ ¤Ûɰ ȏÏĆ ÒɟÍ Ć ×ɟ ßɨÀʃ?  

 1. τῡȟπ̄ 

 2.  τῡȟρψπ̄ 
 3. ÔÁÎςȟπ̄ 

 4. ÔÁÎςȟρψπ̄ 

 

110. A rock unit has drifted northwards without 

undergoing any rotation since its formation. 

What would be the dip and declination of its 

NRM, if it is magnetized at 45̄ in the southern 

hemisphere during a magnetic reversal?  

 1. τῡȟπ̄ 

 2.  τῡȟρψπ̄ 
 3. ÔÁÎςȟπ̄ 

 4. ÔÁÎςȟρψπ̄ 
 

111. ŮɨÍ Þɭ ÏȕØɡ ὶ ÒØ θÒɰÊ ÍÎɟ ÞÍßɡ ÍØɰÀʇ ¾ɭ 
z×ɟÖʇ Öʃ Þɰ¾ɥÌxÑ ŎÖÜ9 {Ñ yÑȓÒɟÍʇ Öʃ ßɮ9  

 1. ρὶϳ ȟρὶϳ  2. ρὶϳȟρЍὶϳ  

 3. ȟ    4. ȟ  

 

111. Attenuation in the amplitude of body and 

surface waves respectively, with distance ὶ 
from source is proportional to   

 1. ρὶϳ ȟρὶϳ  2. ρὶϳȟρЍὶϳ  

 3. ȟ    4. ȟ  

 

112. }ĥ Ì¾ȏÈÔǦ Ûɟ×ȓÖɰÊÙ ¾ɥ ØɦĦ Ôɠ θÛȼÒÌ Ȑŝč ×ɟ ßɮ9  
 1. 6300 km   2. 1000 km 

 3. 30 km   4. 10
5
 km 

 

112. The Rossby radius of deformation for tropical 

atmosphere is 

 1. 6300 km  2. 1000 km 

 3. 30 km   4. 10
5
 km 
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113. Ïɨ ÜɭÙɡ ÔɟÙȕ Òĕ ÎØ ÕɰÊɟØ A ÍÎɟ B ¾ɭ ¾ȕÈ-
Ħ ÎɮȑÍ¾ Ħ ÛθÛÕÛ (PSP) ÍÎɟ Ħ ÎɮȑÍ¾ Ħ ÛθÛÕÛ 
(SSP), Ħ ÛθÛÕÛ (SP) ÒɰÅɠ Öʃ yɰη¾Í η¾×ɭ ÅɟÍɭ ßʅ] 
A ÍÎɟ B Öʃ PSP Þɭ SSP ¾ɭ yÑȓÒɟÍ ŎÖÜ9  0.4 

ÍÎɟ 0.7 ßʅ] A ÍÎɟ B ÏɨÑʇ ¾ɭ εÙ¤, Òɰ¾ ȑÑĦ ×ɰÏ 
ŢȑÍØɨÐ¾Íɟ, ÕɩÖ ÅÙ ŢȑÍØɨÐ¾Íɟ Þɭ yκÐ¾ ßɮ 
(Rmf > Rw)]  ×ß {ɰκÀÍ ¾ØÍɟ ßɮ η¾ A ¾ɟ ÜɭÙ 
z×ÍÑ ßɮ9  

 1. B Þɭ zÐɟ   
 2. B Þɭ ÏȓÀȓÑɟ  
 3. B ¾ɥ ¤¾ ÃɩÎɟ|  

 4. B Þɭ ÃɩÀȓÑɟ  
 

113. Self potential (SP) logs from two shaly 

sandstone reservoirs A and B record their 

pseudo-static self potential (PSP) and static 

self potential (SSP). The ratio of PSP to SSP 

in A and B are 0.4 and 0.7, respectively. For 

both A and B, the mud filtrate resistivity is 

more than the formation water resistivity    
(Rmf > Rw). This implies that the shale volume 

of A is 

 1. half of that in B   

 2. twice that in B  

 3. one-fourth of that in B  

 4. four times of that in B  

 

114. Ûɭę ÑØ θÛę ×ɟÞ Öʃ η¾×ɭ À×ɭ ¤¾ θÛʬ×ȓÍ ÞÛɴàÌ 
Öʃ 10 mV ¾ɟ θÛÕÛɟɰÍØ, 10 m {ÙɮĆ ŘɨÊ ÏȕØɡ, ÍÎɟ 
1.0 amp θÛʬ×ȓÍ ÐɟØɟ ¾ɭ }Ò×ɨÀ Þɭ ÖɟÒɟ À×ɟ]  

 Ûßɡ θÛʬ×ȓÍ ÁɟØɟ, θÛÕÛ {ÙɮĆ Řɨî yɰÍØɟÙ MN = 

4 Öɠ-, ÍÎɟ θÛʬ×ȓÍÐɟØɟ {ÙɮĆ ŘɨÊ yɰÍØɟÙ AB = 30 

Öɠ- ¾ɭ }Ò×ɨÀ Þɭ Ĥ ÙȓĞ ÔÀxØ θÛę ×ɟÞ Öʃ ×ȏÏ 
θÛÕɟɰÍØ ÖɟÒɟ ÅɟÍɟ ßɮ Íɨ θÛÕÛɟɰÍØ Ć ×ɟ ßɨÀɟ?    

 1. 27.6 mV   2.   2.76 mV 

3. 3.62 mV    4.   36.2 mV 

 

114. A potential difference of 10 mV is measured in 

an electrical survey with Wenner 

configuration using an electrode spacing of 10 

m and 1.0 amp current. What would be the 

potential difference if the measurements are 

made with a Schlumberger configuration 

employing current electrode spacing of AB = 

30 m, potential electrode spacing of MN = 4 m 

and the same current?    

 

 

 

 

 1. 27.6 mV  2.  2.76 mV 

3. 3.62 mV    4.  36.2 mV 

 

115. 100 km
2
 ¾ɟ ¤¾ ÅÙÞɰÕØ 900 mm ¾ɥ ÛɟθÝx¾ ÛÝɟx 

ŢɟĚ Í ¾ØÍɟ ßɮ] Ûß yÑȓÕÛ ¾ØÍɟ ßɮ  40% Ûɟß, 
40% Ûɟĥ ÒÑ Ûɟĥ Òɨĕ ÞÅxÑ, ÍÎɟ 20% ÞɰŐßÌ Öʃ 
ÒȎØÛÍxÑ] ÛɟθÝx¾ zÐɟØ ŢÛɟß ÍÎɟ Àĕ ×ɟĕ Ö¾ 
ÁɟÈʇ ¾ɨ ÜɟεÖÙ ¾ØÍɭ ßȓ×ɭ ÙɟÒÍɟ ÞɰŐßÌ 
yÛÐɟØÌ ŎÖÜ9 ÛɟθÝx¾ ÛÝɟx ¾ɭ 6% ÍÎɟ 4% 

z¾εÙÍ η¾×ɭ ÅɟÍɭ ßʅ] }Ò×ɨÀ ¾ɭ εÙ¤ }ÒÙĜ Ð 
}ċ ÃÍÖ ÛɟθÝx¾ ÅÙ Öɟŝɟ (10

9 ÁÑ Öɠ- ¾ɥ 
{¾ɟ{×ʇ Öʃ) Ć ×ɟ ßɨÀɠ?    

 1. 9     2. 10 

 3. 18    4. 20 

 

115. A watershed of 100 km
2
 receives an annual 

rainfall of 900 mm. It experiences a runoff of 

40%, evapotranspiration of 40%, and change 

in storage of 20%.  The annual base flow and 

the unaccounted storage retention including 

dynamic losses are estimated to be 6% and 4% 

of the rainfall, respectively. What is the 

maximum annual amount of water (in units of 

10
9 
m

3
) that will be available for usage?    

 1. 9     2. 10 

 3. 18    4. 20 

 

116. ¤¾ ʬθÛÒØÍɠ ÒȗĖ Ûɠ Öʃ ×ȏÏ ÒØÍʇ ¾ɭ Ę ÛȑÑ¾ 
ŢȑÍÔɟÐɟ ÖɟÑʇ ¾ɨ θÛȑÑÖȑ×Í η¾×ɟ ÅɟÍɟ ßɮ, Íɨ   

 1. ÒØɟÛÍxÑ ¤Ûɰ ÒɟØÀÖÑ ÀȓÌɟɰ¾, ÏɨÑʇ ¾ɭ κÃħÑ  
 ÔÏÙʃÀɭ]  

 2. ÒØɟÛÍxÑ ¤Ûɰ ÒɟØÀÖÑ ÀȓÌɟɰ¾, ÏɨÑʇ ¾ɭ κÃħÑ 
 Ñßɡɰ ÔÏÙʃÀɭ] 

 3. Öɟŝ ÒØɟÛÍxÑ ÀȓÌɟɰ¾ ¾ɟ κÃħÑ ÔÏÙɭÀɟ]  
 4. Öɟŝ ÒɟØÀÖÑ ÀȓÌɟɰ¾ ¾ɟ κÃħÑ ÔÏÙɭÀɟ] 
 

116. In a two layered Earth, if the acoustic imped-

ance values of layers are interchanged, then 

 1. both reflection and transmission 

 coefficients will change sign  
 

 2. both reflection and transmission 

 coefficients will not change sign  
 

 3. only reflection coefficient will change sign   

 4. only transmission coefficient will change 

 sign 
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117.  

 
 }ÒØɨĆ Í κÃŝ Öʃ, ÃȓɰÔ¾ɥ× ÒɟκÎxÛ zÕɟÞɠ 

ŢȑÍØɨÐ¾Íɟ ¤¾ ~Ę ÛɟxÐØ Þɰ×ɨÀ ¾ɥ ÍØ÷ {ÜɟØɟ 
¾ØÍɟ ßɮ  

   1. ÜĜ Ïɟ×ÖɟÑ ȐÔɰÏȓ Þɭ ÏȕØ, ÖɨÈɭ ~ÒØɡÕɟØ Þɭ ï¾ɟ  

 2. ÜĜ Ïɟ×ÖɟÑ ȐÔɰÏȓ Þɭ ÏȕØ, ÒÍÙɭ ~ÒØɡÕɟØ Þɭ ï¾ɟ 

 3. ÜĜ Ïɟ×ÖɟÑ ȐÔɰÏȓ ÒØ, ÖɨÈɭ ~ÒØɡÕɟØ Þɭ ï¾ɟ 

 4. ÜĜ Ïɟ×ÖɟÑ ȐÔɰÏȓ ÒØ, ÒÍÙɭ ~ÒØɡÕɟØ Þɭ ï¾ɟ   

 

117.  

 
 In the above figure, the MT apparent 

resistivity indicates a vertical contact 

   1. away from the sounding point, overlain by 

 thick overburden.   

 2. away from the sounding point, overlain by 

 thin overburden.   

 3. at the sounding point, overlain by thick 

 overburden.   

 4. at the sounding point, overlain by thin 

 overburden.   

 

118. η¾Þɠ ÒȎØÜȓǦ θÛʬ×ȓÍ ÃɟÙ¾ ¾ɭ ~ÒØ 
ÏɡÁxÛȗĕ Íɠ×Í9 ŠȓθÛÍ θÛʬ×ȓÍ ÃȓɰÔ¾ɥ× àɭŝ ¤Ûɰ 
ÞÖ¾ɨζÌ¾ ÁÈ¾, ŎÖÜ9 ßʇÀɭ  

 1. ¤¾ ÞØÙ Øɭ¿ɟ ¤Ûɰ Üȕę ×  
 2. ¤¾ ÞØÙ Øɭ¿ɟ ¤Ûɰ p/2  

 3. ¤¾ Ûȗĕ Í ¤Ûɰ Üȕę ×  
 4. ¤¾ Ûȗĕ Í ¤Ûɰ p/2  

 

118. Over a perfect electrical conductor, the 

elliptically polarized electromagnetic field and 

quadrature component will, respectively, be 

  

 

 1. a straight line and zero  

 2. a straight line and p/2  

 3. a circle and zero    

 4. a circle and  p/2  

 

119. 16 εÖȒġÙ×Ñ ÛÝx ÒȓØɟÑɭ ÖßɟÞÖşɡ Þn ÎÙÖɰÊÙ ¾ɥ 
ÖɨÈɟ| ¾ɥ ÍȓÙÑɟ Öʃ 64 εÖȒġÙ×Ñ ÛÝx ÒȕÛx ¾ɟ 
ÖßɟÞÖȓşɡ Ħ ÎÙÖɰÊÙ ßɨÀɟ  

 1. ÃɩÀȓÑɟ ÖɨÈɟ  

 2. ÏȓÀȓÑɟ ÖɨÈɟ  

 3. }Þɠ ÖɨÈɟ| ¾ɟ  

 4. zÐɠ ÖɨÈɟ| ¾ɟ  

 

119. Compared to the thickness of the oceanic litho- 

sphere of 16 Ma, the oceanic lithosphere of 64 

Ma would be     

 1. four times thicker   

 2. twice thicker   

 3. of the same thickness   

 4. of half the thickness    

 

120. Ûɟ×ȓÖɰÊÙɡ× ŢɟÃÙ ¤Ûɰ }Ñ¾ɭ }ÒŐßʇ Þɭ ŢɟĚ Í 
ÖɟÒÑ ¾ɥ ÙɟàζÌ¾ ÒȎØÜȓǦÍɟ ¾ɨ ÞȓÖɭεÙÍ ¾Øʃ9  

  

A. ÒÛÑ  p. ρ+ 

B. ÍɟÒ   q. πȢσϷ 

C. ÏɟÔ  r. πȢρË0Á  

D. ÅÙ Ûɟĥ Ò  s. πȢς+ 

E. ÞÖȓş ÞÍßɡ ÍɟÒ  t. σÍÓ  

 

 1. A ï t; B ï p; C ï q; D ï r; E ï s  

 2. A ï t; B ï s; C ï q; D ï r; E ï p 

 3. A ï t; B ï p; C ï r; D ï q; E ï s 

 4. A ï p; B ï q; C ï r; D ï s; E ï t 

 

120. Match the atmospheric parameters and the 

typical accuracies of their measurements 

from satellites given below:  

  

A. wind p. ρ+ 

B. temperature  q. πȢσϷ 

C. pressure  r. πȢρË0Á  
D. water vapour  s. πȢς+ 

E. sea surface 

temperature 

t. σÍÓ  

 

 1. A ï t; B ï p; C ï q; D ï r; E ï s  

 2. A ï t; B ï s; C ï q; D ï r; E ï p 

 3. A ï t; B ï p; C ï r; D ï q; E ï s 

 4. A ï p; B ï q; C ï r; D ï s; E ï t 
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121. ȑÑĞ Ñ ¾ÎÑʇ Öʃ Þɭ ¾ɩÑ-Þɟ }ĥ Ì¾ȏÈÔǦʇ ÒØ ÙɟÀȕ 
Ñßɡɰ ßɨÍɟ? 

 1. àɮȑÍÅ ÍɟÒ ŢÛÌÍɟ zşx ÞɰÛßÑ Öʃ ~ĥ ÖÑ ¾ɨ 
 ÞɰÍȓεÙÍ ¾ØÍɟ ßɮ]  

 2. zşx ÞɰÛßÑ Öʃ ~ĥ ÖÑ ~Ę ÛɟxÐØ ÀȑÍÜɠÙÍɟ Þɭ 
 ÞɰÍȓεÙÍ ßɨÍɟ ßɮ]  

 3. ÞɰÛßÑ yκÐ¾Í9 yȼǦɨĥ Ö ßɮ]  

 4. ÏɮȑÑ¾ ÍɟÒ }ċ ÃɟÛÃÑ ¾ɟ ©ÞÍ Þɭ yÑȓÒɟÍ 
 10

-2 ßɮ]  

 

121. Which one of the following statements does 

NOT apply to the tropics? 

 1. the horizontal temperature gradient 

 balances the heating in the moist 

 convection  

 2. the moist convection heating is balanced by 

 vertical motion   

 3. the convection is largely diabatic  

 4. the ratio of the daily temperature 

 fluctuation to the mean is 10
-2 

 

122. η¾Þɠ ÏɟÔ-ÁÑĕ Ûɠ Ûɟ×ȓÖɰÊÙ ¾ɟ ÞÖɠ¾ØÌ {Þ 
ÞɰÔɰÐ ¾ɭ zÐɟØ ÒØ ßʅ9  

 1. ȑÑØÒɭà ťεÖÙÍɟ ÞɰØνàÍ ßɮ : π 

 2. Őßɡ× ťεÖÙÍɟ 'ÒȗĖ Ûɠ ¾ɭ ÁȕÌxÑ ¾ɭ ¾ɟØÌ( 
 ÞɰØνàÍ ßɮ : 0   

 3. şÛ Íĕ Ûʇ ¾ɥ Ħ ÎɟȑÑ¾ ¾ɨÌɠ× ÀȑÍ ¾ɭ ¾ɟØÌ 
 }ĕ Òę Ñ ťεÖÙÍɟ ÞɰØνàÍ ßɮ :  0 

4. ȑÑØÒɭà ťεÖÙÍɟ ÞɰØνàÍ Ñßɡɰ ßɮ]  

 

122. The equation for a barotropic atmosphere is 

based on the relation 

 1. the absolute vorticity is conserved: π 

 2. planetary vorticity (due to Earthsô rotation) is 

 conserved: 0   

 3. vorticity due to the local angular velocity of 

 the fluid elements is conserved:   0 

 4. absolute vorticity is not conserved 

 

123. ÖɭÁ ÔȕɰÏȑÑ×ʇ ¾ɨ ÛÝɟx ¾ɭ εÙ¤ zÛĤ ×¾ zÖɟÒ 
Í¾ θÛ¾εÞÍ ßɨÑɭ ¾ɥ ģ ×ɟć ×ɟ ÔÅxØɟÑ ŢηŎ×ɟ {Þ 
Ţ¾ɟØ ¾ØÍɠ ßɮ9  

 1. ÀØÖ ÖɭÁ Öʃ ÔȕɰÏȑÑ×ʇ ¾ɟ zÒÞ Öʃ ÉĆ ¾Ø ¤Ûɰ 
 ÞȒĞÖÙÑ  

 2. ÜɠÍ ÖɭÁ Öʃ ÔȕɰÏȑÑ×ʇ ¾ɟ zÒÞ Öʃ ÉĆ ¾Ø ¤Ûɰ 
 ÞȒĞÖÙÑ 

 3. yȑÍÜɠȑÍÍ ÅÙ Ôȕɰ ÏȑÑ×ʇ ¾ɭ ¿Ãx Þɭ ȏßÖ 
 Ħ ÓȏÈ¾ʇ ¾ɟ θÛ¾ɟÞ, Ć ×ʇη¾ ȏßÖ ÞÍß ¾ɭ 
 ~ÒØ ¾ɥ yÒɭàɟ ÅÙ ¾ɭ ~ÒØ ÞɰÍȗĚ Í Ûɟĥ Ò ÏɟÔ 
 yκÐ¾ ßɮ]  

 4. ȏßÖ Ħ ÓȏÈ¾ʇ ¾ɭ ¿Ãx Þɭ ÅÙ Ôȕɰ ÏȑÑ×ʇ ¾ɟ 
 θÛ¾ɟÞ, Ć ×ʇη¾ ȏßÖ ÞÍß ¾ɭ ~ÒØ ¾ɥ yÒɭàɟ 
 ÅÙ ÞÍß ¾ɭ ~ÒØ ÞɰÍȗĚ Í Ûɟĥ Ò ÏɟÔ yκÐ¾ ßɮ] 

 

123. The Bergeron process explains the growth of 

droplets from cloud to the size needed for rain 

due to the 

 1. collision and coalescence of droplets in 

 warm clouds  

 2.  collision and coalescence of droplets in 

 cold clouds   

 3. growth of ice crystals at the expense of 

 supercooled water droplets, because  

 saturation vapour pressure over  water is 

 greater than that over  ice surface  

 4. growth of water droplets at the expense of 

 ice crystals, because saturation vapour  

 pressure over water is greater than that over 

 ice surface   

 

124. ÒȗĖ Ûɠ-Ûɟ×ȓÖɰÊÙ Íɰŝ ¾ɥ ~Åɟx ÔéÈ Öʃ Ûȗßĕ ÍÖ 
ÁÈ¾ ßɮ  

 1. Ûɟ×ȓÖɰÊÙ ʬÛɟØɟ ÒɟκÎxÛ θÛη¾ØÌ ¾ɟ yÛÜɨÝÌ  

 2. Ûɟ×ȓÖɰÊÙ ʬÛɟØɟ ÞɩØ θÛη¾ØÌ ¾ɟ yÛÜɨÝÌ 

 3. z¾ɟÜ ¾ɥ ¨Ø ÔɟßØ ÅɟÑɭ ÛɟÙ θÛη¾ØÌ  

 4. ÀȓĚ Í ~ĥ Öɟ  
 

124. In the energy budget of the Earth-atmosphere 

system, the largest component is  

 1. absorption of terrestrial radiation by the 

 atmosphere  

 2. absorption of solar radiation by the atmosphere  

 3. outgoing radiation to space  

 4. latent heat  

 

125. ÖɮÊÑ-ÅȕεÙ×Ñ ÏɨÙÑ (MJO) ¾ɭ εÙ¤ ȑÑĞ Ñ Öʃ Þɭ 
¾ɩÑ-Þɟ Þßɡ Ñßɡɰ ßɮ?  

 1. ÖßɟÞÖȓşɡ ÁÈ¾ ¾ɟ zÛÍx¾ɟÙ 60-75 ȏÏÑ ßɨÍɭ ßʅ]  
 2. Ûɟ×ȓÖɰÊÙɡ× ÁÈ¾ ¾ɟ zÛÍx¾ɟÙ 30-60 ȏÏÑ 

 ßɨÍɭ ßʅ]  

 3. Ûɟ×ȓÖɰÊÙɡ× MJO ¾ɟ z¾ɟÜɠ× zÖɟÒ ÙÀÕÀ 
 1000 km ßɮ]   

 4. }Þ¾ɟ Ŭɭĥ ÉÍÖ θÛ¾ɟÞ ÏνàÌɠ Őɠĥ Ö Öʃ ÏνàÌɠ 
 ȏßɰÏ ÖßɟÞɟÀØ Þɭ ¦Ħ ŘɭεÙ×ɟ, ©Ø zÀɭ ÒȒĤÃÖɠ  
 }ĥ Ì¾ȏÈÔǦ ŢÜɟɰÍ ÖßɟÞɟÀØ Í¾ ßɨÍɟ ßɮ]  
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125. Which one of the following is NOT true for 

the Madden-Julian Oscillation (MJO)?  

 1. The oceanic component has a period of 60-

 75 days 

 2. The atmospheric component has a period of 

 30-60 days 

 3. The spatial scale of atmospheric MJO is 

 roughly 1000 km  

 4. It is best developed from the southern 

 Indian Ocean through Australia to the  

 western tropical Pacific in austral summer 

 

126. ¤¾ ÑÛ zθÛĥ ¾ȎØÍ Őß ¾ɟ Ûɟ×ȓÖɰÊÙ θÛεÜĥ È 
~ĥ Öɟ  cp = ρπππ * ËÇ+  ¾ɭ ¤¾ Ûɟ×ȓ Þɭ ÔÑɟ 
ßɮ] ×ȏÏ ċ ×ȓȑÍ ÏØ ςπ + ËÍ  ßɮ, Íɨ }Þ¾ɟ 
Àȓȼĕ Ûɠ× ĕ ÛØÌ Ć ×ɟ ßɮ?  

 1. 10 m/s
2
   2. 20 m/s

2
 

 3. 5 m/s
2
   4. 25 m/s

2 

 

126. A newly discovered planet has an atmosphere 

made of a gas whose specific heat cp is 

ρπππ * ËÇ+ . If the lapse rate 

ÉÓ ςπ + ËÍ ,  what is its acceleration due to 

gravity?  

 1. 10 m/s
2
   2. 20 m/s

2
 

 3. 5 m/s
2
   4. 25 m/s

2 

 

127. Ûɟ×ȓÖɰÊÙ ÒØ η¾×ɭ À×ɭ ØɭιÊ×ɨÞʇÊɭ ÖɟÒÑ ȑÑĞ ÑÛÍ ßʅ  
  

ÏɟÔ  
(kPa) 

100 94 90 70 50 30 20 15 10 

ÍɟÒ  
( C̄)  

13 9.5 7 -5 -20 

 

-47 -49 -50 -48 

 

 àɨÕ ÞɠÖɟ ÒØ ÏɟÔ (kPa) ¾n  ×ɟ ßɮ? 
 1. 20     2. 30  

 3. 10     4. 15 

 

127. Given below are the Radiosonde measurements 

of the atmosphere  

  
Pressure 

(kPa) 
100 94 90 70 50 30 20 15 10 

Temper- 

ature(̄ C) 
13 9.5 7 -5 -20 

 

-47 -49 -50 -48 

 

 What is the pressure (kPa) at the tropopause? 

 1. 20     2. 30  

 3. 10     4. 15 

 

 

 

 

128. φπЈ} ÒØ ¤¾ ßÛɟ Ħ ÍɰÕ, ȒÅÞ¾ɥ ŢɟØɰεÕ¾ ÞɟÒɭà 
ťεÖÙÍɟ Üȕę × ßɮ, ÞÍß Þɭ 10 km ¾ɥ ~ɫÃɟ| Öʃ 
ȒĦÎÍ àɭÕÞɠÖɟ Í¾ θÛĦ ÍȗÍ ßɮ] ÖɟÑʃ η¾ ×ß ßÛɟ 
Ħ ÍɰÕ τυЈ} ÒØ 5 km ~ɯÃɭ ¤¾ ÒÛxÍɠ× }ÛØɨÐ Í¾ 
ÀȑÍÜɠÙ ßɨÍɠ ßɮ, Íɨ ÅɮÞɭ Ûß ÒÛxÍ εÜ¿Ø ¾ɭ 
~ÒØ Þɭ ÀȓÅØɟÍɟ ßɮ, }Þ¾ɥ ȑÑØÒɭà ťεÖÙÍɟ ßɮ  

 1. ωȢτχσρπί  

 2. ωȢτχσρπί  

 3. φȢσρυρπί  

 4. φȢσρυρπί  

 

128. An air column at φπЈὔ with zero relative 

vorticity stretches from surface to a fixed 

tropopause at 10 km height. Supposing that 

the air column moves until it is over a hilly 

barrier of 5 km height at τυЈὔ, its absolute 

vorticity as it passes the hill top is   

 1. ωȢτχσρπί  

 2. ωȢτχσρπί  

 3. φȢσρυρπί  

 4. φȢσρυρπί  

 

129. ÞÑn   1997 ¾ɭ ÏɩØɟÑ, ÅÔ ÞÏɡ ¾ɟ ŢÔÙÍÖ ¤Ù Ñɠę ×ɨ 
Ïɭ¿ɟ À×ɟ ÕɟØÍɠ× }ÒÖßɟʬÛɠÒ Öʃ }Þ¾ɨ ȑÑĥ ŢÕɟθÛÍ 
¾ØÑɭ ÛɟÙɡ ȑÑĞ Ñ ÁÈÑɟ¨ɰ Öʃ Þɭ Ć ×ɟ Îɠ ?  

 1. }ĕ ÍØɡ yʨÙʅȏÈ¾ ÏɨÙÑ  

 2. ŢÜɟɰÍ ÖßɟÞɟÀØɡ× ÏÜ¾ɥ ÏɨÙÑ  

 3. ȏßɰÏ ÖßɟÞɟÀØɡ× ʬθÛŠȓÛ  
 4. ȏßɰÏ ÖßɟÞɟÀØɡ× şɨÌɠ ~ĥ ÖÑ  
 

129. During the year 1997 that witnessed one of the 

strongest El Niños of the century, which of the 

following events negated its effect on the 

Indian subcontinent?  

 1. North Atlantic Oscillation  

 2. Pacific Decadal Oscillation  

 3. Indian Ocean Dipole  

 4. Indian Ocean Basin Warming  

 

130. ÞɟɰȒć×¾ɥ× ŝȗȏÈ ę ×ȕÑɠ¾ØÌ {Þ θÛκÐ ¾ɭ εÙ¤ 
ŢÎÖ zÐɟØ ÔÑÍɟ ßɮ9  

 1. ŎɭÞÖɮÑ yɰÍÛɴÜÑ  
 2. {ĥ ÈÍÖ yɰÍÛɴÜÑ 

 3. }ĕ ÍØɨĕ ÍØ ÞɰÜȓǦɠ¾ØÌ  
 4. ģ ×ȒĆÍȑÑĥ É θÛĤ ÙɭÝÌ  
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130. Statistical error minimization becomes the 

primary basis for the method of  

 1. Cressman interpolation  

 2. optimal interpolation  

 3. successive correction method  

 4. subjective analysis  

 

131. θÛĤ Û θÛʬ×ȓÍ ÒȎØÒÎ Öʃ, ÒȗĖ Ûɠ ÒØ ¾ɟ  Ì zÛɭÜ 
ŢÔÙÍ9 {ÞÞɭ ¾ɟ×Ö Ø¿ɟ ÅɟÍɟ ßɮ9  

 1. ÛÝxÌ ÐɟØɟ×ʃ  

 2. ȐÔɰÏȓ ȑÑØĦ ÞØÌ ÐɟØɟ×ʃ  

 3. ¿ȓĤ ¾ ÖɩÞÖ ÐɟØɟ  

 4. ÖɭÁ Þɭ ÕȕÍÙ Í¾ ȐÔÅÙɡ ȑÑØĦ ÞØÌ  
 

131. In the global electrical circuit, the negative 

charge on the Earth is maintained predomi-

nantly by  

 1. precipitation currents  

 2. point discharge currents  

 3. fair weather current  

 4. cloud to ground lightning discharges  

 

132. ÅÙĦ ÎɮȑÍ¾ ¾ġ ÒÑɟ ×ȓĆ Í ÀȑÍ-ÞÖɠ¾ØÌ {Þ¾ɥ 
yÑȓÖȑÍ Ñßɡɰ ÏɭÍɭ9  

 1. ÞɟØɟĕ Ö¾ Íɰŝʇ, Åßɟɰ ~Ę ÛɟxÐØ ÀȑÍ àɮȑÍÅ ÀȑÍ 
 Þɭ ¤¾ ¾ɨȏÈ ¾Ö ßɮ, ¾ɟ ŢȑÍÖɟÑɠ¾ØÌ  

 2. ~Ę ÛɟxÐØ ŢÞɟȎØÍ Ę ÛȑÑ ÍØɰÀ  

 3. Åîĕ Û-Àȓȼĕ Û ÍØɰÀ  

 4. ØɦĦ Ôɠ ÍØɰÀ  

 

132. The equations of motion with hydrostatic 

assumption DO NOT permit  

 1. modeling of synoptic systems where the 

 vertical velocity is one order less than  

 the horizontal velocities  

 2. vertically propagating sound waves  

 3. inertia-gravity waves   

 4. Rossby waves  

 

133. ÕȕÖĘ ×Øɭ¿ɟ Þɭ ßÛɟ ÐɠØɭ-ÐɠØɭ }ĕ ÍØ ¾ɥ ÍȻ 
ζ¿Þ¾ɟ×ɟ ÅɟÍɟ ßɮ, }Þ¾ɭ ÞɰÛɭÀ ¾ɨ ÞɰØνàÍ 
Ø¿¾Ø] Òȗĕ Ûɠ ¾ɥ ÞÍß ¾ɭ ÞɟÒɭà 30̄  }  yàɟɰÜ 
Öʃ }Þ¾ɥ ¾ȏÈÔɰÐɠ× ÀȑÍ Ć ×ɟ ßɨÀɠ? 

 

 1. 30 m/s    2. (1/2) m/s  

 3. 62 m/s   4. 463 m/s 

 

 

 

 

 

133. Air from the equator is moved slowly north- 

wards while its momentum is conserved. What 

zonal velocity will it have at latitude 30̄N 

relative to the Earthôs surface?  

 1. 30 m/s    2. (1/2) m/s  

 3. 62 m/s   4. 463 m/s 

 

134. Þȕ×x ×ɟ ÃɟɯÏ ÒØ ¾ʃȏşÍ, θÛÛÍxÑ Þɭ ÔÑɭ, ÞɟÒɭàÍ9 
yġ Ò ģ ×ɟÞ ¾ɭ ØɰÀɠÑ ÛÙ×ʇ ¾ɭ ¤¾ ×ɟ yκÐ¾  
yÑȓŎÖ Åɨ Ûɟ×ȓÖɰÊÙ Öʃ Ïɭ¿ɟ ÅɟÍɟ ßɮ, ¾ßÙÍɟ ßɮ  

 1. ÒȎØÛɭÜ    2. ÒȎØÖɰÊÙ  
 3. ÐȕεÙ ÖɰÊÙ   4. {ɰşÐÑȓÝ   
 

134. One or more sequences of coloured rings seen 

in the Earthôs atmosphere, of relatively small 

diameter, caused by diffraction and centred on 

the sun or moon is called  

 1. Halo   2. Corona 

 3. Bishopôs ring  4. Rainbow  

 

135. ÖßɟÞÖȓşɡ ÞɰÛɟß¾ Òήɠ ¾ɭ ÞÍßɡ ÒØÍ Öʃ 
ÖßɟÞÖȓşɡ ÐɟØɟ̈ ɰ ¾ɟ Þßɡ ŎÖ ȑÑĞ Ñ Öʃ Þɭ ¾ɩÑ-
Þɟ ßɮ?   

 1. ¤Àȓġ ßɟÞ ÐɟØɟï ¿ɟîɠ ÞȎØÍɟï {ɰÊɨÑɭεÜ×ɟ×ɠ 
 ÞÍÍ ŢÛɟß ï ÔɭÑɭÀȓ×ɭÙɟ ÐɟØɟ 

 2. {ɰÊɨÑɭεÜ×ɟ×ɠ ÞÍÍ ŢÛɟß ï ¤Àȓġ ßɟÞ ÐɟØɟ ï 

 ÔɭÑɭÀȓ×ɭÙɟ ÐɟØɟ ï ¿ɟîɠ ÞȎØÍɟ 

 3. ÔɭÑɭÀȓ×ɭÙɟ ÐɟØɟ ï ¤Àȓġ ßɟÞ ÐɟØɟ ï {ɰÊɨÑɭεÜ×ɟ×ɠ 
 ÞÍÍ ŢÛɟß ï ¿ɟîɠ ÞȎØÍɟ 

 4.  {ɰÊɨÑɭεÜ×ɟ×ɠ ÞÍÍ ŢÛɟß ï ÔɭÑɭÀȓ×ɭÙɟ ÐɟØɟ ï 

 ¤Àȓġ ßɟÞ ÐɟØɟ ï ¿ɟîɠ ÞȎØÍɟ 

 

135. Which of the following represents the correct 

order of ocean currents in the surface layer of 

oceanic conveyor belt?   

 1. Agulhas current ï Gulf Stream ï 

 Indonesian throughflow ï Benguela current    

 2. Indonesian throughflow ï Agulhas current 

 ï Benguela current   ï Gulf Stream  

 3. Benguela current  ï Agulhas current ï 

 Indonesian throughflow ï Gulf Stream  

 4.  Indonesian throughflow ïBenguela current   

 ï Agulhas current ï Gulf Stream 
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136. ÞɭÑɨéɨ{¾ ÒȓØɟÖßɟÞÖȓşɡθÛáɟÑ Öʃ ÛȎØĥ ÉÍØ Þɭ 
Ùɭ¾Ø ÍȼÌÍØ Í¾ ¾ɟ Þßɡ ŎÖ ȑÑĞ Ñ Öʃ Þɭ 
¾ɩÑ-Þɟ ÏɭÍɟ ßɮ?  

 1. yɰÈɟ¾xȏÈ¾ ȏßÖ Òĕ ÍØ ÞɰØÃÑɟï ÖĘ × yÖɭȎØ¾ɥ 
 ÞÖȓşÒÎ ¾ɟ ÔɰÐ ßɨÑɟ ï θÒÄÙɟ ȏßÖɟÑɠ 
 }ċ ÃÍÖ ï ÍȼÌÍØ Śɟ×ɟÞ  

 2. Śɭ¾ ÖɟÀx ¾ɟ ¿ȓÙÑɟï ÖĘ × yÖɭȎØ¾ɥ ÞÖȓşÒÎ 
 ¾ɟ ÔɰÐ ßɨÑɟ ï ÍȼÌÍØ Śɟ×ɟÞ ï θÒÄÙɟ ȏßÖɟÑɠ 
 }ċ ÃÍÖ 

 3. ÒÑɦÖɟ ÕȕÞɰκÐ ¾ɟ zθÛÕɟxÛï ÖĘ × yÖɭȎØ¾ɥ 
 ÞÖȓşÒÎ ¾ɟ ÔɰÐ ßɨÑɟ ï ÍȼÌÍØ Śɟ×ɟÞ  ï 

 θÒÄÙɟ ȏßÖɟÑɠ }ċ ÃÍÖ 
 4. yɰÈɟ¾xȏÈ¾ ȏßÖ Òĕ ÍØ ÞɰØÃÑɟ ï θÒÄÙɟ ȏßÖɟÑɠ 

 }ċ ÃÍÖ ï ÍȼÌÍØ Śɟ×ɟÞ ï ÖĘ × yÖɭȎØ¾ɥ 
 ÞÖȓşÒÎ ¾ɟ ÔɰÐ ßɨÑɟ 

 

136. Which one of the following gives the correct 

order of events from older to younger in 

Cenozoic paleoceanography?  

 1. Antarctic ice sheet formation ï closing of 

 Central American Seaway ï Last  

 glacial maximum ï younger Dryas   

 2. Opening of Drake Passage  ï closing of 

 Central American Seaway ï younger  

 Dryas ï Last Glacial Maximum   

 3. Emergence of Panama Isthmus  ï closing 

 of Central American Seaway ï younger 

 Dryas  ï Last Glacial Maximum  

 4. Antarctic ice sheet formationï Last Glacial 

 Maximum ï younger Dryas  ï closing of 

 Central American Seaway 

 

137. ÒĤ Ã ŎɮÈɭεÜ×Þn  Þɭ ÞɭÑɨéɨ{¾ Í¾ ÕɟØÍɠ× Ě ÙɮÈ 
ÀȑÍÜɠÙÍɟ ÒØ θÛÃɟØ ¾ØÑɭ ÒØ, ÑĜ Ôɭ ÒȕÛx ¾È¾ 
¾ɭ ÞɰÏÕx Öʃ ȑÑĞ Ñ ¾ÎÑʇ Öʃ Þɭ ¾ɩÑ-Þɟ Þßɡ ßɮ?  

 1. ¾È¾ ¾ɭ ÖßɟÞɟÀØɡ× ÔÞɦġ È }ĕ ÍØ Öʃ 
 ÛȎØĥ ÉÍÖ ¤Ûɰ ÏνàÌ Öʃ ÍȼÌÍÖ ßʅ]  

 2. ¾È¾ ¾ɭ ÖßɟÞɟÀØɡ× ÔÞɦġ È }ĕ ÍØ Öʃ 
 ÍȼÌÍÖ  ¤Ûɰ ÏνàÌ Öʃ ÛȎØĥ ÉÍÖ ßʅ] 

 3. ¾È¾ ¾ɭ ÖßɟÞɟÀØɡ× ÔÞɦġ È ¾ɭ z×ȓ¾ɟÙ 
 }ĕ ÍØ Þɭ ÏνàÌ Í¾ ¤¾ÞÖɟÑ ßʅ] 

 4. ¾È¾ ¾ɭ ÛȎØĥ ÉÍÖ yÛÞɟÏ ÏνàÌ Öʃ Òɟ×ɭ 
 ÅɟÍɭ ßʅ] 

 

 

 

 

137. Considering the Indian plate movement in Late 

Cretaceous to Cenozoic, which of the following 

statements is true with respect to Ninety East 

Ridge?  

 1. Oceanic basalts of the Ridge are the 

 oldest in the north and the youngest in the 

 south  

 2. Oceanic basalts of the Ridge are the 

 youngest in the north and the  oldest in the 

 south  

 3. The ages of the oceanic basalts of the 

 Ridge are the  same from north to south  

4. The oldest sediments of the Ridge are 

 found in the south 

 

138. Ãɭę Ñ| ÍÈ ¾ɭ ÞÖɠÒ (ÔɰÀɟÙ ¾ɥ ¿ɟîɠ Öʃ( Ñɟ|ŘɭÈ-
Ñɟ|ŘɨÅÑ ÞɟɰşÍɟ 16mM ßɮ] C:N:P  ¾ɭ ȑÑĤ Ãɟ×¾ 
Øɮî ÷ɥġ Ê yÑȓÒɟÍ ¾ɭ ȏÏ×ɭ ÅɟÑɭ ÒØ, ÒɟÏÒ Ě ÙÛ¾ 
¾ɭ }ʬŐßÌ ¾ɭ εÙ¤ ȑÑĞ Ñ yÑȓÒɟÍɨ Öʃ Þɭ ¾ɩÑ-Þɟ 
Þßɡ ßɮ? 

 

 1. 16 : 256 : 1696    

 2. 1696 : 256 : 16 

 3. 256 :16 : 1696   

 4. 256 : 1696 : 16 

 

138. Off Chennai coast, the nitrate-nitrogen 

concentration is 16mM. Given the definitive 

Redfield ratio of C:N:P, which one of the 

following ratios is correct for phytoplankton 

uptake? 
 

 1. 16 : 256 : 1696    

 2. 1696 : 256 : 16 

 3. 256 :16 : 1696   

 4. 256 : 1696 : 16 

 

139. ÒɟȎØÍɰŝ Öʃ, }ċ ÃÍÖ ÒɟȎØÍɟɰȐŝ¾ ÞÖɟ¾ÙÑ ¾ɟ 
ŢȑÍȑÑκÐĕ Û ¾ØÍɠ Þßɡ {¾ɟ| ßɮ  

 1. η¾Þɠ ŢÅɟȑÍ Öʃ ģ ×ȒĥÈ×ɟɰ  

 2. η¾Þɠ ŢÅɟȑÍ Öʃ ¤¾ ģ ×ȒĥÈ 
 3. ÒȕØɡ zÛɟÞɠ ÞÖȓÏɟ×  
 4. η¾Þɠ ÞÖȓÏɟ× Öʃ ¤¾ ģ ×ȒĥÈ  

 

139. In the ecosystem, the correct unit representing 

the highest ecological integration is   

 1. individuals in a species  

 2. an individual in a species  

 3. entire inhabiting communities  

 4. an individual in a community   
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140. ȑÑĞ Ñ κÃŝ Öʃ ÏÜɟx×ɠ À×ɠ ÅɮÛ }ĕ ÒɟÏ¾Íɟ η¾Þ 
ÖßɟÞÖȓşɡ àɭŝ ¾ɟ ÙɟàζÌ¾ ßɮ, {Þɭ ÒßÃɟÑʃ9  

 

  

 1. }Ïɡċ ×     2. ÕȕÖĘ × Øɭ¿ɟ    

 3. θÛÍÙɡ×     4. ÜɠÍɨĥ Ì    
 

140.   
 

  
  

 Identify the oceanic region where the 

depicted biological productivity in the figure 

above is typical 
 1. Boreal     2. Equator   

 3. Abyssal    4. Temperate   

 

141. 15 ̄ C ÍÎɟ 35 PSU ÙÛÌÍɟ ÛɟÙɭ ÞÖȓşÅÙ ¾ɟ 
ÁÑĕ Û }Þ ÞÖȓşÅÙ ¾ɭ ÁÑĕ Û ¾ɭ ÞÖɟÑ ßɨÀɟ,  

 Åɨ ßɮ  

 1. 21̄ C  ÍÎɟ ÙÛÌÍɟ 37 PSU ÒØ]    
 2. 14̄ C ÍÎɟ ÙÛÌÍɟ 37 PSU ÒØ]   
 3. 21̄ C ÍÎɟ ÙÛÌÍɟ 34 PSU ÒØ]  

 4. 15̄ C ÍÎɟ ÙÛÌÍɟ 37 PSU  ÒØ] 
 

141. Seawater at 15 ̄C and 35 PSU salinity would 

have the same density as seawater   

 1. at 21̄ C and salinity 37 PSU   

 2. at 14̄ C and salinity 37 PSU   

 3. at 21̄ C and salinity 34 PSU   

 4. at 15̄ C and salinity 37 PSU   

 

 

 

142. ȑÑĞ Ñ ÖßɟÞÖȓşɡ ØɟÞɟ×ȑÑ¾ ÁÈ¾ʇ Öʃ η¾Ñ¾ɥ 
ÀßØɟ|-ÒȎØċ ÄɭȏÏ¾ɟ×ʃ Íȓġ × ßʅ?  

 A. CO2  

 B. O2 

 C. ÒɨÝ¾ Íĕ Û   
 D. pH  

 1. A ÍÎɟ C   2. B ÍÎɟ C  

 3. A ÍÎɟ B    4. A ÍÎɟ D   

 

142. Depth profiles of which of the following 

chemical constituents of the ocean are quite 

similar to each other ?  

 A. CO2  

 B. O2 

 C. nutrients  

 D. pH  

 1. A and C    

 2. B and C  

 3. A and B     

 4. A and D   

 

 143. yʨÙʅȏÈ¾ ÖßɟÞɟÀØ Þɭ ÕȕÖĘ × ÞɟÀØ Öʃ ŢÛɭεÜÍ 
ÅÙ 1.75 Ħ Ûɭ- ßɮ ÅÔη¾ ÕȕÖĘ × ÞɟÀØ Þɭ 
yʨÙɮȏÈ¾ ¾ɨ ÛɟÒÞ ÅɟÍɟ ÅÙ 1.68 Ħ Ûɭ- ßɮ] 
{Þ¾ɟ ÖÍÙÔ ßɮ η¾  

 1. E ï P  (Ûɟĥ ÒÑ  Ì ÛÝxÌ( ÕȕÖĘ ×ÞɟÀØ ¾ɭ 
 ~ÒØ Üȕę × ßɮ]  

 2. E ï P ÐÑ ßɮ ÍÎɟ χ ρπ ÁÑ Öɠ- ŢȑÍ Þɭ- ¾ɭ 
 ÞÖɟÑ ßɮ] 

 3. E ï P ÐÑ ßɮ ÍÎɟ 0.008 Sv ¾ɭ ÞÖɟÑ ßɮ]  
 4. E ï P  Ì ßɮ ÍÎɟ 0.08 Sv ¾ɭ ÞÖɟÑ ßɮ] 

 

143. Water entering the Mediterranean Sea from 

the Atlantic Ocean is 1.75 Sv whereas, water 

leaving the Mediterranean Sea to the Atlantic 

Ocean is 1.68 Sv. This means that   

 1. E ï P  (Evaporation minus precipitation) 

 over the Mediterranean is close to zero  

 2. E ï P is positive and is equal to χ ρπÍȾÓ 
 3. E ï P is positive and is equal to 0.008 Sv 

 4. E ï P is negative and is equal to 0.08 Sv 

 

144. ©Ę ×ɨκÀ¾ ×ȓÀ ¾ɭ ŢɟØɰÕ Þɭ Ùɭ¾Ø y Ô Í¾, 
ÖßɟÞÖȓşɡ ÞÍßɡ ÅÙ ¾ɥ pH  0.1 {¾ɟ| ¾Ö ßȓ| 
ßɮ] ×ß zØɨθÒÍ η¾×ɟ ÅɟÍɟ ßɮ H

+ z×Ñ ÞɟɰşÍɟ 
¾ɭ {Þ ŢȑÍÜÍ ÛÐxÑ ÒØ9  

 1. 3%     2. 10% 

 3. 25%    4. 45% 
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144. Since the beginning of the industrial era, the 

pH of ocean surface waters has decreased by 

0.1 unit. This is ascribed to increase in H
+ 

ion 

concentration by about    

 1. 3%     2. 10% 

 3. 25%    4. 45% 

 

145. ÖßɟÞɟÀØɡ× ÍɟÒ yÞɰÀȑÍ×ɟɰ Ûɟ×ȓÖɰÊÙɡ× ÍɟÒ 
yÞɰÀȑÍ×ʇ ¾ɥ ÍȓÙÑɟ Öʃ yκÐ¾ ÞÖ× Í¾ ÔÑɭ 
ØßÍɭ ßʅ Ć ×ʇη¾ ÞÖȓşÅÙ  

 1. ÙÛÌ×ȓĆ Í ßɮ]   
 2. ßÛɟ Þɭ yκÐ¾ ÞÁÑ ßɮ]  

 3. ¾ɥ θÛεÜĥ È ~ĥ Öɟ yκÐ¾ ßɮ]  

 4. θÛη¾ØÌɠ× ÜɠÍÑ yÑȓÕÛ Ñßɡɰ ¾ØÍɟ]  
 

145. Ocean temperature anomalies last longer than 

atmospheric temperature anomalies because 

ocean water 

 1. is salty   

 2. is denser than air    

 3. has a higher specific heat  

 4. does not undergo radiative cooling  

 

146. ÀßØɭ ÖßɟÞÀØ ¾ɥ ÍȓÙÑɟ Öʃ, ÞÍßɡ ÞÖßÞÖȓş Öʃ 
θÛÙɡÑ CO2 ¾Ö {ÞεÙ¤ ßɮ η¾  

 A: ÀßØɟ ÖßɟÞɟÀØ ÞÍßɡ ÖßɟÞɟÀØ Þɭ ÉɰÊɟ ßɮ] 

 B : ÀßØɭ ÖßɟÞɟÀØ Öʃ ŢɟÎεÖ¾ }ĕ ÒɟÏ¾Íɟ Ñßɡɰ ßɮ]  

 C : ÀßØɭ ÖßɟÞɟÀØ Öʃ ÞÍßɡ ÖßɟÞɟÀØ ¾ɥ ÍȓÙÑɟ 
 Öʃ ¾Ö ¦Ć ÞɠÅÑ ßɮ]  

 D: ÀßØɭ ÖßɟÞɟÀØ ÞÍßɡ ÖßɟÞɟÀØ Þɭ yκÐ¾ 
 ÞÁÑ ßɮ]  

 Þßɡ Þɰ×ɨÅÑ ßɮ9  
 1. A & D    2. A & B  

 3. B & C    4. C & D 

 

146. Relative to the deep ocean, the surface ocean 

has less dissolved CO2 because :  

 A: deep ocean is cooler than the surface ocean. 

 B : there is no primary production in the deep 

 ocean. 

 C : deep ocean has less oxygen relative to 

 surface ocean. 

 D: deep ocean is denser than the surface ocean   

  

 The correct combination is  

 1. A & D    2. A & B  

 3. B & C    4. C & D 

 

 

 

 

147. ÛɭÙɟÒÛÍɶ yÑȓŎÖʇ Öʃ, Ě ÙÛ¾ɥ ÷ɨØɟεÖȑÑ÷ɭØɟ ¾ɥ 
ÅɮÛ ÞɰĦ ÍȎØ¾ɥ, Ţɟ×9 ÅɠÛɟĥ Ö ¾ɭ Ţ¾ÈÑ ¤Ûɰ 
θÛÙɨÒÑ ÁÈÑɟ¨ɰ Öʃ ʬθÛ¾ɟÙŎεÖÍɟ ¾ɥ ÞÖĦ ×ɟ 
¾ɟ ÞɟÖÑɟ ¾ØÍɠ ßɮ] ×ß {Þ ¾ɟØÌ ßɮ9 

 1. Ě ÙÛ¾ ÷ɨØɟεÖȑÑ÷ɭØɟ ¾ɟ ŎÖθÛ¾ɟÞ ÀȑÍ yȑÍ 
 yġ Ò ßɮ]  

 2. Ě ÙÛ¾ ÷ɨØɟεÖȑÑ÷ɭØɟ yàɟɰÍÜÍ9 àɭŝɠ¾ȗÍ ßɮ] 
 3. ßØ ÖßɟÞÖȓş ¾ɥ Ě ÙÛ¾ ÓɨØɟεÖȑÑ÷ɭØɟ 

 ŢÅɟȑÍ×ɟɰ yÙÀ ßʅ]  
 4. Ě ÙÛ¾ ÷ɨØɟεÖȑÑ÷ɭØɟ ¾ɭ ÞɰĦ ÍȎØ¾ɥ z×ȓ¾ɟÙ 

 ÔßȓÍ ÙɰÔɭ ßʅ]  
 

147. Planktonic foraminiferal biostratigraphy of 

pelagic sequences often faces the problem of 

diachronism in fossilôs appearance and 

extinction events. This is due to  

  1. planktonic foraminifera have  very slow 

 evolutionary rate  

 2. planktonic foraminifera are latitudinally 

 provincialized    

 3. every ocean has different species of 

 planktonic foraminifera  

 4. planktonic foramerfera have very long 

 stratigraphic ranges   

 

148. }ĕ ÍØɡ ȏßɰÏ ÖßɟÞɟÀØ Öʃ ¦Ć ÞɠÅÑ ę ×ȕÑÍÖ àɭŝ 
(O M Z) ÒØ η¾×ɭ À×ɭ ȑÑĞ Ñ ¾ÎÑʇ Öʃ Þɭ ¾ɩÑ-Þɟ 
Þßɡ ßɮ?   

 1. 400 m ¾ɭ ÑɠÃɭ yØÔ ÞɟÀØ OMZ şɨÌɠ ¾ɭ ÒɟØ 
 ÏνàÌ ¾ɥ ÍØÓ Íɠū ßɨÍɭ ÅɟÍɟ ßɮ]  

 2. 400 m ¾ɭ ÑɠÃɭ yØÔ ÞɟÀØ OMZ şɨÌɠ ¾ɭ ÒɟØ 
 }ĕ ÍØ ¾ɥ ÍØÓ Íɠū ßɨÍɭ ÅɟÍɟ ßɮ]  

 3. yØÔ ÞɟÀØ OMZ ¾ɥ yÒɭàɟ ÔɰÀɟÙ ¾ɥ ¿ɟîɠ 
 OMZ ¾ßɡɰ yκÐ¾ ÔÙÛɟÑ ßɮ]  

 4. 400 m ¾ɭ ~ÒØ yØÔ ÞɟÀØ OMZ yȑÍ 
 ÒȒĤÃÖ şɨÌɠ Öʃ ȒĦÎÍ ßɮ]  

 

148. Which of the following statements is correct 

about the oxygen minimum zone (OMZ) in the 

northern Indian Ocean?   

 1. Below 400 m Arabian Sea OMZ intensifies 

 southward across the basin   

 2. Below 400 m Arabian Sea OMZ intensifies 

 northward across the basin   

 3. Bay of Bengal OMZ is stronger than the 

 Arabian Sea OMZ 

 4. Above 400 m Arabian Sea OMZ is located 

 in the far western basin  
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149. ÞÖȓşÍÙ Öʃ Íĕ Ûʇ ¾ɭ ȑÑÛɟÞ ¾ɟÙ ¾ɭ ȑÑĞ Ñ ŎÖʇ 
Öʃ ¾ɩÑ-Þɟ Þßɡ ßɮ?   

 1. Mg < Cl < Ca < Si  

 2. Cl < Mg < Ca < Si 

 3. Si < Ca < Mg < Cl 

 4. Ca < Cl < Mg < Si 

 

149. Which one of the following order of residence 

times of the elements in the seawater is 

correct?   

 1. Mg < Cl < Ca < Si  

 2. Cl < Mg < Ca < Si 

 3. Si < Ca < Mg < Cl 

 4. Ca < Cl < Mg < Si 

 

150. ¾ȓÄ ÖßɟÞÖȓşɡ yÛÞɟÏ ÍÎɟ yÛÞɟÏɡ ÜɮÙn  ȑÑĞ Ñ 
ÞȕÃɠ¾ȗÍ ßʅ] ȑÑàɭÒ ¾ɥ ÔïÍɠ ÀßØɟ| ŎÖ Öʃ ȑÑĞ Ñ 
Öʃ Þɭ ¾ɩÑ-Þɟ Þßɡ ßɮ?  

 1. ÒàÛɟÏ ȑÑÒɰ¾ï Ĉ ÙɨȐÔéɭØɡÑɟ ȑÑÒɰ¾ï ÙɮθÒÊɨ-  
 Þɟ|Ć ÙɡÑɟ ÃȕÑɟÒĕ ÎØï ØɭιÊ×ɨÙɭȎØ×Ñ ÃɭÈx  

 2. ÙɮθÒÊɨÞɟ|Ć ÙɡÑɟ ÃȕÑɟÒĕ ÎØ ï ÒàÛɟÏ ȑÑÒɰ¾ ï

 Ĉ ÙɨȐÔéɭØɡÑɟ ȑÑÒɰ¾ ï ØɭιÊ×ɨÙɭȎØ×Ñ ÃɭÈx 
 3. Ĉ ÙɨȐÔéɭØɡÑɟ ȑÑÒɰ¾ ï ÒàÛɟÏ ȑÑÒɰ¾ ï 

 ÙɮθÒÊɨÞɟ|Ć ÙɡÑɟ ÃȕÑɟÒĕ ÎØ ï ØɭιÊ×ɨÙɭȎØ×Ñ ÃɭÈx 

 4. ÙɮθÒÊɨÞɟ|Ć ÙɡÑɟ ÃȕÑɟÒĕ ÎØ ï ØɭιÊ×ɨÙɭȎØ×Ñ ÃɭÈx 
 ï Ĉ ÙɨȐÔéɭØɡÑɟ ȑÑÒɰ¾ ïÒàÛɟÏ ȑÑÒɰ¾ 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

150. Some oceanic sediments and sedimentary 

rocks are listed below. Which one of these  is 

correct in the increasing order of depth of 

deposition?  

 1. Pteropod ooze ï Globigerina ooze ï 

 Lepidocyclina  limestone ï Radiolarian  

 cherts 
 

 2. Lepidocyclina  limestone ï Pteropod ooze 

 ï Globigerina ooze ïï Radiolarian  

 cherts 
 

 3. Globigerina ooze ï Pteropod ooze ï

 Lepidocyclina  limestone ï Radiolarian  

 cherts 
 

 4. Lepidocyclina limestone ï Radiolarian 

 chertsï Globigerina ooze ï  Pteropod ooze 
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